UGC NET 2022 TOURISM ADMINISTRATION N
MANAGEMENT

Topic:- 93_PARTA_S2
1) Identify a place of tourist interest covered under "The Grand Tour™:

1, Paris
2, Cairo
3, Madrid
4 Llisben
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[Question ID = 601][Question Description = 101_93_TMA_OCT22_52_Q01]
1. 1 [Option ID = 2401]
2. 2 [Option ID = 2402]
3. 3 [Option ID = 2403]
4. 4 [Option ID = 2404]

2) Tourists who seek novelty at all costs can be termed as

1. Drifter

2, Explorers

3. Individual mass tourists
4, Organised mass tourists
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[Question ID = 602][Question Description = 102_93_TMA_OCT22_S2_Q02]
1. 1 [Option ID = 2405]
2. 2 [Option ID = 2406]
3. 3 [Option ID = 2407]
4. 4 [Option ID = 2408]

3) Travel deficit occurs when

1. mare of a country’s money is spent abread by its ewn citizens than is earned by
that-country from foreigners visiting it.

2. country not cnly discourages domestic tourism but also encourages its own
gitizens to travel aboard.

3. moje money that flows into a country as a result of its citizens travelling abroad.

4, spending more money on exported travel services than is earmed from imported
travel services.
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[Question ID = 603][Question Description = 103_93_TMA_OCT22_S2_Q03]
1. 1 [Option ID = 2409]
2. 2 [Option ID = 2410]
3. 3 [Option ID = 2411]
4. 4 [Option ID = 2412]

4) Wheo is the author of a historic guidebook of Greece that made a milestone in the
history of tourism betweern 160 and 180 CE?
1. Pausanias
2, Hadnan
3, Antoninus Plus
4, Marcus Aurelius
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[Question ID = 604][Question Description = 104_93_TMA_OCT22_S2_Q04]
1. 1 [Option ID = 2413]
2. 2 [Option ID = 2414]
3. 3 [Option ID = 2415]
4. 4 [Option ID = 2416]

5) The first airline to implement the depeaking approach at its Chicago O'Hare hub in
June 2003 is

1. United Airlines

2. Delta Air Lines

3. American Alrlines
4, Southwest Airlines
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[Question ID = 605][Question Description = 105_93_TMA_OCT22_S2_Q05]
1. 1 [Option ID = 2417]
2. 2 [Option ID = 2418]



3. 3 [Option ID = 2419]
4. 4 [Option ID = 2420]

6) Which one of the following is not a seaport in India?

1. Kakinada
2, Mangalore
3, Chandipur
4, Ennore
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[Question ID = 606][Question Description = 106_93_TMA_0OCT22_52_Q06]
1. 1 [Option ID = 2421]
2. 2 [Option ID = 2422]
3. 3 [Option ID = 2423]
4. 4 [Option ID = 2424]

7) The scheduled airlines in domestic services shall join only as an 1ATA

1. Active Member

2. Associate Member
3, Charter Member
4, Allied Member
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[Question ID = 607][Question Description = 107_93_TMA_0OCT22_52_Q07]
1. 1 [Option ID = 2425]
2. 2 [Option ID = 2426]
3. 3 [Option ID = 2427]
4. 4 [Option ID = 2428]

8) From the following, select the year in which the Constitution came into force and
India became a republic.

1.1947
2.1948

3.1949

4,1950
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[Question ID = 608][Question Description = 108_93_TMA_OCT22_S2_Q08]
1. 1 [Option ID = 2429]



2. 2 [Option ID = 2430]
3. 3 [Option ID = 2431]
4. 4 [Option ID = 2432]

9) Optimal dividend pay-out ratic exists as per?

1. Gorden's Model

2. Modigliani-Miller Mode|
3, Miller-Orr Model

4, Baumel Model
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[Question ID = 609][Question Description = 109_93_TMA_0CT22_S2_Q09]
1. 1 [Option ID = 2433]
2. 2 [Option ID = 2434]

3. 3 [Option ID = 2435]
4. 4 [Option ID = 2436]

10) A large number of unarmed people had gathered on 13 April 1919 at Amiritsar in the
Jallianwala Bagh to protest against the arrest of;

1..Dr. Saifuddin Kitchlew and Dr. Satyapal
2, Dr, Saifuddin Kitchlew and Lala Lajpat Rai
3, Lala Lajpat Rai and Sivaswamy Aiyar

4, Swami Shradanand and Dr, Satyapal
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[Question ID = 610][Question Description = 110_93_TMA_0OCT22_52_Q10]
1. 1 [Option ID = 2437]
2. 2 [Option ID = 2438]
3. 3 [Option ID = 2439]
4. 4 [Option ID = 2440]

11)  From the following, identify the temple where rats are revered and are an important
tourist attraction,

1. Karni Mata temple - Deshnok, Bikaner
2. Ambika Mata temple - lagat

3. Brahima temple - Pushkar

4, Paryati temple - Nachna
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[Question ID = 611][Question Description = 111_93_TMA_OCT22_S2_Q11]
1. 1 [Option ID = 2441]
2. 2 [Option ID = 2442]
3. 3 [Option ID = 2443]
4. 4 [Option ID = 2444]

12)  For the construction of the Taj Mahal, most of the marble stone was brought from:

1. Maharashira

2. Rajasthan

3. Madhya Pradesh
4, Andhra Pradesh
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[Question ID = 612][Question Description = 112_93_TMA_OCT22_S2_Q12]
1. 1 [Option ID = 2445]
2. 2 [Option ID = 2446]
3. 3 [Option ID = 2447]
4. 4 [Option ID = 2448]

13) The Chinese traveller Hiuen Tsang came to India:

1. tg:study Buddhism

2, tovisit historical places-

3. for trade and commerce

4, to establish palitical relations with India
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[Question ID = 613][Question Description = 113_93_TMA_0OCT22_S2_Q13]
1. 1 [Option ID = 2449]
2. 2 [Option ID = 2450]
3. 3 [Option ID = 2451]
4. 4 [Option ID = 2452]



14)  Which is the oldest tramway in Asia?
1. Shanghai Tramway, China

. Hengkeng Tramway, China

. Kolkata Tramway, India

S M

. Kyote Electric Railroad, Japan
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[Question ID = 614][Question Description = 114_93_TMA_OCT22_S2_Q14]
1. 1 [Option ID = 2453]
2. 2 [Option ID = 2454]
3. 3 [Option ID = 2455]
4. 4 [Option ID = 2456]

15)  What is the name of the Commitiee composed of 47 African member countries of
the Organization of African Unity, created for affordable, accessible and safe
transpertaian in Africa?

. Committee on Transport, Communications and Tourism
. Committee on Transport, Travel and Tourism
. Committee on Transport, Travel and Communications
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. Committee on Travel, Communications and Tourism
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[Question ID = 615][Question Description = 115_93_TMA_OCT22_S2_Q15]
1. 1 [Option ID = 2457]
2. 2 [Option ID = 2458]
3. 3 [Option ID = 2459]
4. 4 [Option ID = 2460]

16) What is the name of the most luxurious train journeys in the world, often promoted
as a "magnificent moving five star” that covers 1,600 km in South Africa, from
Pretoria to Cape Town?

1. Green Star
2, Red Star

3, Bullet Train
4, Blue Train
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[Question ID = 616][Question Description = 116_93_TMA_OCT22_S2_Q16]
1. 1 [Option ID = 2461]
2. 2 [Option ID = 2462]
3. 3 [Option ID = 2463]
4. 4 [Option ID = 2464]

17)  What is the EMS for the journey GVA-BSL-LYS-TLS, if the MPM is EH 9404 and TPM is
108557
1.5M
2, 10M
3, 15M
4, 20M
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[Question ID = 617][Question Description = 117_93_TMA_0CT22_S2_Q17]
1. 1 [Option ID = 2465]
2. 2 [Option ID = 2466]
3. 3 [Option ID = 2467]
4. 4 [Option ID = 2468]

18) Which organisation celebrated its 50 years of service at a Golden Jubilee Congress in
20167
1.1ATO
2, UFTAA
3. UNWTO
4 WTTC

99 ¥ g W8T 3 2016 H e Sod HUE & €9 5 oG- Ia1 & 50 a4 gof 89
@1 Jod HAI ?

1,318 Tt o

2.4UpdTE

3. g O Beey o 31

4 ZEeg A Al

[Question ID = 618][Question Description = 118_93_TMA_0OCT22_S2_Q18]
1. 1 [Option ID = 2469]
2. 2 [Option ID = 2470]
3. 3 [Option ID = 2471]
4. 4 [Option ID = 2472]



19) The process in which a tour operating company buys or merges with ancther
company at the same level in the chain of distribution is called
1. Vertical Integration
2, Diagonal Integration
3, Linear Initegration
4, Herizontal Integration
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[Question ID = 619][Question Description = 119_93_TMA_0OCT22_52_Q19]
1. 1 [Option ID = 2473]
2. 2 [Option ID = 2474]
3. 3 [Option ID = 2475]
4. 4 [Option ID = 2476]

20) A cruise is a spedialised tour, sold at a set price, that usually involves a combination

of which travel components?

1. Sea travel, F&B Service and excursion

2, Sea travel, F&B Service, activities'and entertainment
3. Sea travel, FA&B Service and entertainment

4, Sea travel, FA&B Service and activities
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[Question ID = 620][Question Description = 120_93_TMA_0OCT22_52_Q20]
1. 1 [Option ID = 2477]
2. 2 [Option ID = 2478]
3. 3 [Option ID = 2479]
4. 4 [Option ID = 2480]

21) Location of Association of Retail Travel Agents (ARTA) Headquarters is:

1. Scottsdale
2, Gensva
3. Alexandria

4. Madrid
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[Question ID = 621][Question Description = 121_93_TMA_0OCT22_52_Q21]
1. 1 [Option ID = 2481]
2. 2 [Option ID = 2482]
3. 3 [Option ID = 2483]
4. 4 [Option ID = 2484]

22) ANYTHING BUT ORDINARY. is the tagline associated with which Indian-origin Hotel
Chain?

1. The Park Group of Hotels
2. The Ashok Group of Hotels
3. HRH Group of Hotels

4, ITC Hotels
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[Question ID = 622][Question Description = 122_93_TMA_0OCT22_52_Q22]
1. 1 [Option ID = 2485]
2. 2 [Option ID = 2486]
3. 3 [Option ID = 2487]
4. 4 [Option ID = 2488]

23) The First Hotel of the Park Group was opened in the year in
1..1987, New Delhi

. 1856, Mumbai

. 19867, Kolkata

. 15686, Vishakapatnam
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[Question ID = 623][Question Description = 123_93_TMA_0OCT22_S2_Q23]
1. 1 [Option ID = 2489]
2. 2 [Option ID = 2490]
3. 3 [Option ID = 2491]
4. 4 [Option ID = 2492]

24) The year 1794 marked the beginning of the present-day hotel industry with the
inaguration of hotel in New York.
1. The Statler
2, The Hilton
3, The City Hotel
4, The Imperial
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[Question ID = 624][Question Description = 124_93_TMA_OCT22_52_Q24]
1. 1 [Option ID = 2493]
2. 2 [Option ID = 2494]
3. 3 [Option ID = 2495]
4. 4 [Option ID = 2496]

25) Ina hotel's Food Service Outlet, a 'Busboy' reports to the

1. F&B Director

2. Captain

3, Assistant Waiter

4, Assistant Manager, F&B
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[Question ID = 625][Question Description = 125_93_TMA_0OCT22_S2_Q25]
1. 1 [Option ID = 2497]
2. 2 [Option ID = 2498]
3. 3 [Option ID = 2499]
4. 4 [Option ID = 2500]

26) Many hospitality firms view the marketirig environmernit as a/an element to

which they must adapt.

1. Feasible

2, Unicontrollable
3, Unpredictable
4, Defensible
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[Question ID = 626][Question Description = 126_93_TMA_0OCT22_S2_Q26]
1. 1 [Option ID = 2501]
2. 2 [Option ID = 2502]
3. 3 [Option ID = 2503]
4. 4 [Option ID = 2504]



27) Which one of the following is NOT among the four levels of comipetition?

1. All companies that offer similar products and services tothe same customers at
a similar price,

2. All companies making the same product or class of products.

3. All companies supplying the same service.

4, All companies that have a similar distribution system.
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[Question ID = 627][Question Description = 127_93_TMA_0CT22_S2_Q27]
1. 1 [Option ID = 2505]
2. 2 [Option ID = 2506]
3. 3 [Option ID = 2507]
4. 4 [Option ID = 2508]

28) occurs when higher priced hetels'lower the rates te maintain occcupancy

and become direct compititors to lower-rated hotels,

1. Price-rate compression

2, End-benefit effect

3, Price elasticity of demand
4, Cost subsidization
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[Question ID = 628][Question Description = 128_93_TMA_OCT22_S2_Q28]
1. 1 [Option ID = 2509]
2. 2 [Option ID = 2510]
3. 3 [Option ID = 2511]
4. 4 [Option ID = 2512]

29) Market segmentation based on . and is called

psychographic segmentation.
1. attitudes, perception, motivation
2, attitudes, interests, opinions
3. perception, personality, mctivation
4, motivation, interests, opinions
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[Question ID = 629][Question Description = 129_93_TMA_0OCT22_52_Q29]
1. 1 [Option ID = 2513]
2. 2 [Option ID = 2514]
3. 3 [Option ID = 2515]
4. 4 [Option ID = 2516]

30) At the individual level, consumers have limited income and if they spend their
income on a mountain bike, they can consider what else they could have bought
with the money, such as an air ticket, This is an example of

1. Explicit cost

2. Sacial marginal cost
3. Semi-variable cost
4, Opportunity cost
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[Question ID = 630][Question Description = 130_93_TMA_0OCT22_S2_Q30]
1. 1 [Option ID = 2517]
2. 2 [Option ID = 2518]
3. 3 [Option ID = 2519]
4. 4 [Option ID = 2520]

31) Who is popularly known as Nand Rishi?

. Shaikh Moinuddin Chishti
.Baba Farid

. Shaikh Nuruddin

. Baba Guru Nanak
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[Question ID = 631][Question Description = 131_93_TMA_OCT22_S2_Q31]
1. 1 [Option ID = 2521]
2. 2 [Option ID = 2522]
3. 3 [Option ID = 2523]
4. 4 [Option ID = 2524]

32) Which one of the following is the correct expansion of the acronym of RASM?

1. Revenue Airline Seat Management
2, Revenue Per Available Seat Mile

3. Rapid Airline Sequence Per Mile

4, Return Average Seat Per Mile
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[Question ID = 632][Question Description = 132_93_TMA_OCT22_S52_Q32]
1. 1 [Option ID = 2525]
2. 2 [Option ID = 2526]
3. 3 [Option ID = 2527]
4. 4 [Option ID = 2528]

33) In relation to economic impacts, select the positive consequence of tourism
1. Inflation
2, Foreign Exchange Earnings:
3. Oppertunity cost
4, Over-dependence on tourism
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[Question ID = 633][Question Description = 133_93_TMA_0OCT22_S2_Q33]
1. 1 [Option ID = 2529]
2. 2 [Option ID = 2530]
3. 3 [Option ID = 2531]
4. 4 [Option ID = 2532]

34) Which of the following distributions is used for testing a hypothesis?
1. Nommal distribution
2, Chi-Square distribution
3, Gamma distribution
4, Poisson distribution
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[Question ID = 634][Question Description = 134_93_TMA_OCT22_52_Q34]
1. 1 [Option ID = 2533]
2. 2 [Option ID = 2534]
3. 3 [Option ID = 2535]
4. 4 [Option ID = 2536]

35) Which of the following is a multivariate stastical technigue?

—d

. Logit Analysis

2. Mann-Whitniey

3, K. W, Anova

4, Paired sample t-test
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[Question ID = 635][Question Description = 135_93_TMA_OCT22_S52_Q35]
1. 1 [Option ID = 2537]
2. 2 [Option ID = 2538]
3. 3 [Option ID = 2539]
4. 4 [Option ID = 2540]

36) If repeated random samples of size 40 are taken from an infinite population, the
distribution of sample means will always be normal because:

1. we do not know the distribuition of the population
2. thesample mean is always normal

3. the population is infinite

4, of the Central Limit Theorem
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[Question ID = 636][Question Description = 136_93_TMA_OCT22_S2_Q36]
1. 1 [Option ID = 2541]
2. 2 [Option ID = 2542]
3. 3 [Option ID = 2543]
4. 4 [Option ID = 2544]

37) What was the name of the first steam-powered ferry service (between New York
City and Hoboken, New Jersey) invented by John Stevens on 11 October 18717

1. Waterlily
2, Eureka
3, Juliana
4, Yankse
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[Question ID = 637][Question Description = 137_93_TMA_OCT22_52_Q37]
1. 1 [Option ID = 2545]
2. 2 [Option ID = 2546]
3. 3 [Option ID = 2547]
4. 4 [Option ID = 2548]



38) All of the following accounting equations are incorrect, except:

. Opening Capital = Closing Capital - Fresh Capital + Drawings - Profit
. Opening Capital = Closing Capital + Fresh Capital + Drawings = Loss
. Opening Capital = Closing Capital - Fresh Capital - Drawings - Profit

J5 WM =

. Opening Capital = Closing Capital - Fresh Capital + Drawings - Loss
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[Question ID = 638][Question Description = 138_93_TMA_OCT22_S2_Q38]
1. 1 [Option ID = 2549]
2. 2 [Option ID = 2550]
3. 3 [Option ID = 2551]
4. 4 [Option ID = 2552]

39) Which of the following ratics measures the relative contribution of financing by
owners and outsiders?
1. Leverage Ratio
2, Liguidity Ratio
3. Activity Ratio
4, Profitability Ratio

Fafofad 5 § ®F - 91 39T arae! SR a6 dads g [aued & aiae
TTETS S 910 S & 2

1. foes o

2, axeral U

3, fepan (uaefadl) sud
4, TTHYGH ST

[Question ID = 639][Question Description = 139_93_TMA_0OCT22_S2_Q39]
1. 1 [Option ID = 2553]
2. 2 [Option ID = 2554]
3. 3 [Option ID = 2555]
4. 4 [Option ID = 2556]

40) Calculation of the Weighted Average Cost of Capital assumes that;

1. The firm re-balances debt in each period, keeping the debi-to-value ratio
coristant.

2. A project supports a fixed amount of debt over the project’s economic life,

3. The WACC is based on firm’s future characteristics.

4. Projects should use safer or riskier than the average of the firm's existing assets.

Ul @ HIR 314 TFid @1 9o Al 6 19 -
1. BH B aft H B0 & 559 30K 6d BY B KU I8 ¢ G U el 6|
2, I3 UREIGH &4l BREeH © G H® slaToid ao B0 &1 Hidd SRS a@
eI B 8
3. 3= U O we o ufasy 31 fqgware i enuia gt 8
4. aRErEI @1 B @1 Hieel TRUGRA! & Ad B HUeT JREE e Siiaag
IR &3 et

[Question ID = 640][Question Description = 140_93_TMA_OCT22_S52_Q40]
1. 1 [Option ID = 2557]



2. 2 [Option ID = 2558]
3. 3 [Option ID = 2559]
4. 4 [Option ID = 2560]

41) Tour operators primarily keep their prices low, except

1. Negotiation of low prices from supplier
2, Pruning package tour itinerary

3., Reduction of profit margins

4, Cutting their cost structures

AR WS ¥ U U e @1Hl P D &3l U2 W0 &, S9S i -
1. HMUfdddl § &9 @Fal X ad - ard
2, I d U g1 g
3, T 314! (ATe) B 9E A
4, SO B YL H BH B

[Question ID = 641][Question Description = 141_93_TMA_OCT22_S52_Q41]
1. 1 [Option ID = 2561]
2. 2 [Option ID = 2562]
3. 3 [Option ID = 2563]
4. 4 [Option ID = 2564]

42) Major activities of the Archaeclegical Survey of India (AS]) include;
A, Horticulture operation in and around ancient monuments and sites
B, Chemical preservation of monuments and anfiquarian remains
C. Entering into cultural agreements-with foreign countries
D. Epigraphical and numismatic studies
Choose the correct answer from the options given below;

1.A Band D only
2.A Cand Donly
3.8, Cand D only
4. A Band Conly

YR Rlca® G601 (€ TH. H15,) &) Je Thaaryd & -
A, U HRG! 3R e H 3R 3% 19-UT" §01aH] @) Tdiaied) &1 dameH

B, FIR®! R RTa4-2a9m! & T9E-E TR

C. G o3 & O TRelam 983 Bl

D. GeRd 19 @iiHiipae) SR GerEdy (GHNe) T o
i fgu e fased| 5 € 981 Sw g

1. FaT A BHARD
2. FHEAA, CIHRD
3, FHaAB, C AR D
4 FEAABHARC

[Question ID = 642][Question Description = 142_93_TMA_OCT22_S2_Q42]
1. 1 [Option ID = 2565]
2. 2 [Option ID = 2566]



3. 3 [Option ID = 2567]
4. 4 [Option ID = 2568]

43) The states belonging to the Satpura and Vindhya Mountain Ranges are
A, Rajasthan
B, Gujarat
C. Madhya Pradesh
D. Telangana
E. Chhattisgarh
Choose the correct answer from the options given below;

1.4, Band D only
2.A Dand Eonly
3. C and D only

4 B, Cand Eonly

TagST IR fo=g g seen 4 defa I T
A TEH

B. oI

C. FEHeY

D. AEHT

E BUIEg

el Tou e fawed| | § wEl S g

1. $aq A, B AR D
2, FATAA, D HRE
3, FEACARD

4, FHaAFB, CHARE

[Question ID = 643][Question Description = 143_93_TMA_OCT22_S2_Q43]
1. 1 [Option ID = 2569]
2. 2 [Option ID = 2570]
3. 3 [Option ID = 2571]
4. 4 [Option ID = 2572]



44)

Given below are two statements, one is labelled as Assertion A and the other

is labelled as Reason R

Assertion A: The augmented product combines what is offered with how it is
delivered. Because guests ceme to the service, atmosphere is-an important part of

the product.

Reason R: The augmented product captures the key elements that must be

mianaged when the customer comes to the service factory,

In light of the above statements, choose the most appropriate answer from the

options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are carrect but R is NOT the correct explanation of A
3. A is correct but R is not correct

4, Ais not correct but R is correct

Tl wyA QU g te @ @Y (A) 3 g6t & HRYI (R) H] 1 6

STUEY (A) : Halid Sd1G 1 U9iew & 9y verge 9 2iEe gl o | Sifafy 99T ure
Y B J5%F G 3l &, i FIeTd SIG Bl U Hewdy ST el gl

@O (R) - Gafdg 301G & Tyl 0@ a5l & 1ot 39 904 Hazd uaftd B
I dieT wa Aled Hal & 108 3L |

ST HYA! & HE® 3 FHied [ded | § Ul S 9 ;

1.A 3 R BFT T8I § R R, A U] WA B

2. A 3 R GHI €1 € R R, A D1 Tel AR A6l 5
3.AWEl e T RS Rl 6

4, A TR el e R R UEI 6

[Question ID = 644][Question Description = 144_93_TMA_OCT22_52_Q44]
1. 1 [Option ID = 2573]
2. 2 [Option ID = 2574]
3. 3 [Option ID = 2575]
4. 4[Option ID = 2576]

45) Select the correct statements from the following:

A. Roza-i Munawwara Is popularly known as:the Taj Mahal
B. Taj Mahal was built by Shah Jahan in memory of the empress Nur Jahan
C. For the maintenance of Taj Mahal, a corpus fund was created by Shah fahan

D. For the construction of Taj Mahal, Havelis of Raja Man Singh and Madhao Singh
were acguired and compensation paid to their descendent, Mirza Raja Jai Singh of

Jaipur,
Choose the correct answer from the options given below;

1.4, Band Conly
2,A Band Donly
3,A, Cand Donly
4, B and D only



Fafafad 7 ¥ el aaded| ®f 9419 Bitau-

A, TSI1-3 Ta] &1 G 919 arosed o

8. A9Hed @ FHT Sedsl 4 $7TH Ree @1 916 1§ heaE vl

C. ToHeq & T@-191d & [0 Jewg - U Saa 1Y (B9 ) S o @ |
D. dreHea & A % o yemERie ok ot #1 gafeaf &1 st e m
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1.FaAA B AR C
2, FEAA BARD
3, FHAAA CHRD
4, A B AN D

[Question ID = 645][Question Description = 145_93_TMA_OCT22_S2_Q45]
1. 1 [Option ID = 2577]
2. 2 [Option ID = 2578]
3. 3 [Option ID = 2579]
4. 4 [Option ID = 2580]

46) Which of the following are the Mud Forts and Brick Forts?
A. Kuchesar Fort
B. Asherigad Fort
C. lunagad Fort
D. Gagron Fort
Choose the correct answer from the options given below;

1.4 and C anly
2.4 Band D only
3.B and C only
4 A Cand Donly

fFraforad # ° @ 9 gal-g7 SR gegie ?
A TUT P el

B, HIRTG 1 fooal

C. SA1Tg @1 fobeil

D. 7RIS BT febeil

el TGu e fawed | § w8l S g

1. A A R C
2. FEAA BARD
3, FAABARC
4 FEAA CIHRD

[Question ID = 646][Question Description = 146_93_TMA_OCT22_S2_Q46]
1. 1 [Option ID = 2581]
2. 2 [Option ID = 2582]



3. 3 [Option ID = 2583]
4. 4 [Option ID = 2584]

47) Which of the following cities are included in |ATA Area No: 2(TC-2)7
A. Osla (OSL)
B, Santiago (SCL)
C. Caracas (CCS)
D. lohannesburg (JNBE)
E. Nairobi (NBQ)
Choose the correct answer from the options given below;

1.4, Cand E only
2.A BandDonly
3. B and C only

4 A DandEonly

fFafciad 7 4 &1 ¥ W63 Rl T g A, 2 (€1 Ul - 2) HAMH B 7
A, Sl (3l T9 Th)

g, TferT (@8 91 79

C, ®U®g (4 4 TE)

D. SiigiHa] (o T )

E. SRIdl (@9 3)

e fou e faswedt & G wR SR g -

1.3a0A, CHRE
2, FAAA BARD
3, FEABANC

4, FAAA, D HRE

[Question ID = 647][Question Description = 147_93_TMA_OCT22_52_Q47]
1. 1 [Option ID = 2585]
2. 2 [Option ID = 2586]
3. 3 [Option ID = 2587]
4. 4 [Option ID = 2588]



48) Which of the following journeys are examples for Double Open Jaw Jourpey?
A TYO-MNL-BJS-SHA-DEL-OSA
B. SYD-CCS-NYC-YMQ-AKL-PER
C. BOM-KHI-DXB-KTM-DAC-DEL
D. PAR-HEL-BER-FRA-BUD-MOW
E. PAR-LIS-NYC-LAX-SYD-AKL
Choose the correct answer from the options given below;

1.C, Dand E only
2, Aand Eonly
3.C and Eonly
4 AandBonly

S A o o b e PR A A SR
ATEE A -GG -4 9oy - T UG U - S S 00 - A G T

B.EHAR S - U TH-TH Ay U - A5 S - Udh e - U1 3 3R
cHiNm-TugaE - d-FA - -S3 T
D.HEIR-TEIT0-9 5 AR - TP AR Y- g8 - TH I &g,
E. 91T 3R - 0 1S U0 - G Ol W1 - T U e - Q9 A §1 U & O
TR e d W aw I

1,380 C, D AR E
2. FaAAHARE
3, %A C ARE
4, FHaA A AR B

[Question ID = 648][Question Description = 148_93_TMA_OCT22_S2_Q48]
1. 1 [Option ID = 2589]
2. 2 [Option ID = 2590]
3. 3 [Option ID = 2591]
4. 4 [Option ID = 2592]

49) An MCO (Miscellaneous Charges Order) is categorized as a Specified MCO, if
A, It isdrawn on a specific carrier(s)
B. It is not drawn on a specific carrier(s)
C, Itis limited te ene specific type of service

D. The point of departure, destination, class, fare/charge and calculation points are
shown

Choose the correct answer from the options given below:

1.A and Conly
2.A and D only
3.A,Cand D enly
4 B, Cand D only



uH |l 3 ([fey e siew) faly v 41 3l & w0 4 dvfias giar g, e -
A. TE U fAf2IE aTe® W AeRd el &

B. 1% fafdIP a/6e W #1eRd ol 6/l &
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1.FaA A ARC
2, FHad A HR D
3, FAAA CHRD
4, FAAB, C HR D

[Question ID = 649][Question Description = 149_93_TMA_OCT22_S52_Q49]
1. 1 [Option ID = 2593]
2. 2 [Option ID = 2594]
3. 3 [Option ID = 2595]
4. 4 [Option ID = 2596]

50) The pionesrs of sea travel by steamship to the USA are
A, Themas Cook
B, Henry Wells:
C. Sir Henry Lunn, now Lunn Poly
D. William Fargo
Choose the correct answer from the options given below;

1.A Band D only
2.B and D only
3. A and Caonly
4,.Cand D only

TUE T & foE aeuiEied womm (B9 ) T o aE 47 3 o aEnfi E
A THT TF

B. B dedl

C. TR g1 o, A1 (349) g diehl

D. faferms sl

i fqu ¢ fased| | § Hel ST g

1. ®AAA, BARD
2, #aAE AN D
3, FEAAARC
4,FHaECARD

[Question ID = 650][Question Description = 150_93_TMA_0OCT22_S2_Q50]
1. 1 [Option ID = 2597]
2. 2 [Option ID = 2598]



3. 3 [Option ID = 2599]
4. 4 [Option ID = 2600]

51) Under the area Bank Settlement Plan, the member agencies are allowed to
A, Purchase and resell inventory
B, Pass through tash and credit card payments directly to the airlines
C, Sell and distribute tickets on the airlines' behalf
D. Forward the creditcard number to the airline which collects money
Choose the correct answer from the options given below;

1.B, Cand D only
2.A and Caonly
3.B and D only
4. Aand B only

S HeoHe W & JF=iTid, Gasd Ueadl @l HEieied g SfgHi U Bidl 6 i
A, 7 T QAR Tt
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e e e fawedi § G w6 o g

1. @A B, C 3R D
2, FEAARC
3, HAAB AR D
4, FHaA A AR B

[Question ID = 651][Question Description = 151_93_TMA_OCT22_S2_Q51]
1. 1 [Option ID = 2601]
2. 2 [Option ID = 2602]
3. 3 [Option ID = 2603]
4. 4 [Option ID = 2604]

52) For package or vacation tours, the tour whelesale business primarily consists of
&, Planning
B, Preparing
C. Selling
D. Marketing
Choose the correct answer from the options given below;

1.4, Cand Donly
2,4 Band Conly
3.4 Band D only
4 B, Cand D only



THHEA (Jdvel) SYd] SGO®E G4 (2X) B4 Uded dle [dshal sgaaid HE8Iad] 594
Wﬁ?ﬁ%:-

A, HTESH] (@)

B. ORI &3 (i)
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D. fa9uE F1 (@ e
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1,390 A, CHRD
2, FEAA BHRC
3, FAAA BARD
4, FHAAB, C HR D

[Question ID = 652][Question Description = 152_93_TMA_0OCT22_52_Q52]
1. 1 [Option ID = 2605]
2. 2 [Option ID = 2606]
3. 3 [Option ID = 2607]
4. 4 [Option ID = 2608]

53) In August 1933, a new general classification system called market price levels was
created. Smith Travel Research, an independent research firm that counts the AH &
LA amongst its clients, also uses this system. This market price levels system
considers the following categories of hotels based on Room Rate:

A, Luxury Properties, Economy Properties and Budget Properties
B. Upscale Properties and Midpriced Properties

. Classic Properties, Comiort Properties

D. Elite Properties:

E. Limited-Service Properties, Franchise-Licensed Properties
Choose the correct answer from the options given below;

1.4 and B enly
2.Cand Donly
3.4 Band Conly
4 B, Cand D only



ST 1993 H, TP 41 AT Flicul Hae] 3 @1 13 (gl 419 SR Hed &l
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1. P A AR B
2, FAACARD
3, FaAA B AR C
4, FHAAB, C HR D

[Question ID = 653][Question Description = 153_93_TMA_OCT22_S52_Q53]
1. 1 [Option ID = 2609]
2. 2 [Option ID = 2610]
3. 3 [Option ID = 2611]
4. 4 [Option ID = 2612]

54) The Computer Reservation System (CRS) is one of the most widely used

technological tools in the travel, tourism and hospitality industries. This booking

system has since evolved into what is widely known as the global distribution

system, also referred to as eMediaries. The well known CRSs in the above context

are:
A, Amadeus

B, Galileo

C.Woarldspan

D. Sabre

E. Tally

Choose the correct answer from the options given below;

1.4, Band D only
2,Aand Benly

3,.C, D and Eonly

4 A B Cand Donly



HREHIP HREU Ha (H.ARTH) UE, uded IR sffow TEr | wed ofts
IR [T &1 18 ad-1d] Ul § 4§ UF 8| 08 RE&Y 95| [doidd sipy Uu®
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1. FaTA, B AR D
2 HAAA IR B

3, ®AAC, D ARE
4, FAAA, B, CARD

[Question ID = 654][Question Description = 154_93_TMA_OCT22_S2_Q54]
1. 1 [Option ID = 2613]
2. 2 [Option ID = 2614]
3. 3 [Option ID = 2615]
4. 4 [Option ID = 2616]

55) Which amangst the following are a part of the Food & Beverage Service Brigade in a
Hotel?

&, Chef De Salle

B. Semmelier

C. Chef D'e'tage

D. Tournant

E, Dummy waiter/Demi waiter

Choose the correct answer from the options given below;

1.4 Band Conly
2B, Cand D only
3.8, D and E only
4 A Band Eaenly



frdl Elea & @1 U9 U 9aT SriGa 3 ®F S g g 7
A, SIh-G-HIe

B, HHTET

C. - T30

D. A

E. S8 922/ oAl gt
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1.HIAA BARC
2. @aAE, C 3R D
3. @90 DIARE
4 FaAABIARE

[Question ID = 655][Question Description = 155_93_TMA_0OCT22_S52_Q55]
1. 1 [Option ID = 2617]
2. 2 [Option ID = 2618]
3. 3 [Option ID = 2619]
4. 4 [Option ID = 2620]

56) A hospitality firm should respond to a price change by a competitor by considering
several issues, Some of the issues are given below:

A, Competitor wants to gain more market share

B. Competitor wants to use excess capacity

C. Buyers are less price sensitive

D. The firm must consider it's product’s stage in lifecycle
Choose the correct answer from the options given below;

1.4 Band Conly
2.8, Cand D only
3.4 Cand Donly
4 A Band Donly



nfaeadl & g ufiads & g | gica WiasF @i Fuifea § 9 69 3udl R faar
o gl ?
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2 HAAE, C HR D
3, WAAAC3IRD
4, FIAABARD

[Question ID = 656][Question Description = 156_93_TMA_OCT22_S2_Q56]
1. 1 [Option ID = 2621]
2. 2 [Option ID = 2622]
3. 3 [Option ID = 2623]
4. 4 [Option ID = 2624]

57) Longitude is measured in
A. Degrees
B. Minutes
C. Distance
D. Rotaticn
E, Seconds-
Choose the correct answer from the options given below;

1.4, Dand Eonly
2.8, Cand D only
3.4 Band Eonly
4,Cand D only

SR &1 AY FRfiad J @1 9idl 8 ;
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1. PaA A, D AR E
2. FHaE B, C AR D
3, FAAABHARE
4, FEACHARD



[Question ID = 657][Question Description = 157_93_TMA_0OCT22_S52_Q57]
1. 1 [Option ID = 2625]
2. 2 [Option ID = 2626]
3. 3 [Option ID = 2627]
4. 4 [Option ID = 2628]

58) Hospitality companies can leverage an existing brand by employing different types
of branding. Given below are some types of brandings.

A, Co-branding

B. Umbrella branding

C. Corporate branding

D. Ingredient branding

Choose the correct answer from the options given below;

1.A and D anly
2.Band D only
3.Cand D only
4. Aand Conly

faifea 7 9 fow UoR 91 gifeT 4 Sies 4al el $ulEl & Aival §is & Jee
& 5 95g fHemi 8 7
A Fg-ii3T

B, e FifET
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1. %89 A AR D
2, FEAB AR D
3, FAACARD
4, FAAAFRC

[Question ID = 658][Question Description = 158_93_TMA_0OCT22_S52_Q58]
1. 1 [Option ID = 2629]
2. 2 [Option ID = 2630]
3. 3 [Option ID = 2631]
4. 4 [Option ID = 2632]



59) Tourism Planning Cycle follows several steps including the following. Arrange them
in the sequence in which these are taken

A, Analysis of existing tourism situation

B. Assessment of tourism related resources

., Fixing priorities

D. Programming and Implementation

E. Monitoring and evaluation

Choose the correct answer from the options given below;

ABCDE
B, CD EA
LD EAB
JO,EABC

e e 9% EioRad & 9 @ U @ s e ol eeE g R B
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[Question ID = 659][Question Description = 159_93_TMA_0OCT22_S2_Q59]
1. 1 [Option ID = 2633]
2. 2 [Option ID = 2634]
3. 3 [Option ID = 2635]
4. 4 [Option ID = 2636]



60) Andrew Carnegie’s views on corporate social responsibility, as reflected in his book
The Gospel of Wealth, is based on some principles. Which of the following are
included in these principles?

&, Gospel Principle

B. Peter Principle

C. Charity Principle

D. Steward Principle

E. Scalar Principle

Choose the correct answer from the options given below;

A and B only
.B and C only
.C and D only

J5 WM =

.Dand E only
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1. P A ARE
2. FEABARC
3, FEACARD
4, FaAD ANE

[Question ID = 660][Question Description = 160_93_TMA_0OCT22_52_Q60]
1. 1 [Option ID = 2637]
2. 2 [Option ID = 2638]
3. 3 [Option ID = 2639]
4. 4 [Option ID = 2640]



61) Which of the following statements are correct?
A, A statistic is'a measure of the sample
B. "All Covid-19 patients in the world’ is an example of a finite population
C. The sampling error usually decreases with inicrease in sample size

D. The system of grades in the Indian military service is an example of a

nominal scale
E, The qualitative measures refer to the measurement of abstract concepts
Choose the correct answer from the options given below;

1.4, Band D only
2.4 Band Conly
3.4 Cand Eonly
4, C Dand Eonly

EEIGIEREA IR AR R e N
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1.$a0 A BHRD
2.FaAABHRC
3. Fa0A, CHRE
4, FAAC, DARE

[Question ID = 661][Question Description = 161_93_TMA_OCT22_S2_Q61]
1. 1 [Option ID = 2641]
2. 2 [Option ID = 2642]
3. 3 [Option ID = 2643]
4. 4 [Option ID = 2644]



62) All of the following are the socratic methods of tourism comminucation, except
A. Focused Group Discussion
B. Workshop
C. Panel Discussion
D. Lecture
E. Demonstration
Choose the correct answer from the options given below;

1.A and D anly
2. B and Conly
3.Cand D only
4, D and Eonly
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1, 69T A 3R D
2. FEABARC
3, FEACIARD
4, FEAD ARE

[Question ID = 662][Question Description = 162_93_TMA_OCT22_S2_Q62]
1. 1 [Option ID = 2645]
2. 2 [Option ID = 2646]
3. 3 [Option ID = 2647]
4. 4 [Option ID = 2648]



63) Which of the following are associated with Cluster Analysis?
A, Bartlett's test of sphericity
B. Percentage of variance
C. Correlation matrix
D. Agglomeration schedule
E. Distance Coefficient matrix
Choose the correct answer from the options given below;

1.A and D anly
2. B and Conly
3.C and D only
4, D and Eonly

T A & Y FeRfad e ddeg o ?
A, TS 3T gieae g
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D. HHa gl

E. GT% Ui Afga

i fgu e fased| 5 € 981 Sw g

1.3ad A AR D
2. FEABARC
3, FaACARD
4, FEAD ARE

[Question ID = 663][Question Description = 163_93_TMA_OCT22_S2_Q63]
1. 1 [Option ID = 2649]
2. 2 [Option ID = 2650]
3. 3 [Option ID = 2651]
4. 4 [Option ID = 2652]

64) Which of following are the characteristics of Weber’s Bureaucratic Model?
A, Personal nature
B. Empleyment decisions based on seniority
C, Division of labour
D. High formalisation
E. Diverse control
Choose the correct answer from the options given below:

1.A and B enly
2,8 and Conly
3. C and D onily
4, Dand Eonly



de & AIpe] (GR I HIST Bl HRicRgd & | [GRgdl s ?
A, SigaTd W@HE

B. SNEAI & 3MYR W s

C. ¥\ P [qHeH

D. 3= AFIRSIH]

E. fafqy o=

e fou e fasedt & G wR SR g

1. P A AR B
2, FEABANC
3, FAACARD
4, FEAD AN E

[Question ID = 664][Question Description = 164_93_TMA_OCT22_S52_Q64]
1. 1 [Option ID = 2653]
2. 2 [Option ID = 2654]
3. 3 [Option ID = 2655]
4. 4 [Option ID = 2656]

65) The Grand Tour to Europe of the 17 and 18" centuries was effected by
A, Diplamiats
B, Businessmen
C. Schelars
D. Leisure Tourists
E. Pilgrim Tourists
Choose the correct answer from the options given below;

1.4, Cand E only
2.B, D and Eonly
3.D and E only

4 A Band Conly



Agdl R ABRedl Fedlsadl H 9Y ®I HeH Gded I (G 95 X P J3Y) fod
PRGN
A, TSHED

B, SEFEH

c. fagm

D. BRE (CioR) Tie®

E, diarf vdes

i fau U fadedl § 8 Wel SR 94

1.Fa0A, CHRE
2, FaAE, D IARE
3, HEAD ANE

4, FAAABARC

[Question ID = 665][Question Description = 165_93_TMA_0OCT22_S52_Q65]
1. 1 [Option ID = 2657]
2. 2 [Option ID = 2658]
3. 3 [Option ID = 2659]
4. 4 [Option ID = 2660]

66) IMatch List | with List 1l

List | List 1

: Year
World Tourism Day Theme

A. Promoting Universal Accessibility 1.2015

B. One Billion Tourists, ©ne Billien Cpportunities 1. 2014

C. Tourism and Community Development ;2016

D. Tourism and Water: Protecting Qur Common Future
V. 2013

Choose the correct answer fram the options given below:

T.A-M,B-1LE-I, D -
ZA-B-LC-1LD-IV
S A-ILB-ULE-IViD -]
4A-LEBE-IVC-N.D-1

T - B3 -1 AR P ;

e - [y gden Rau w1 fawg - 7
A, TAHIES Ugd &l Wiz 1. 2015

B. U9 3§ G4 U g T II. 2014
C. qde AR Graias By it 2016
D. T R S GHN W HiTW BT AT IV. 2013
T gu e fagedl B 9 uR ge g

TA-IV, B-J1,C-1, D-|
2ZA-,B-1,C-]Jl, D-1V
3A-II,B-II,C-IV, D-1|
4A-1,B-IV,C-1ll, D-1I




[Question ID = 666][Question Description = 166_93_TMA_0OCT22_52_Q66]

1. 1 [Option ID = 2661]
2. 2 [Option ID = 2662]
3. 3 [Option ID = 2663]
4. 4 [Option ID = 2664]

67) Match List | with List 1l
List | List Il
Name of City Airport
ty Alrp IATA Three Letter City Code
A, Aarhus 1. ASK
B. Abu Rudeis Il. GAU
C. Yamoussoukro 1. &AR
D. Yamagata V. AUE

Choose the correct answer from the options given below:

T.A-I.B-IMC-1L,D-1
ZA-B-LC-1M D=1l
ZA-LB-IV,C-1ILLD-1
4AA-IVB-LC-LD-1

i - DI i -1 | gHfad Do -

gl -1 B9 Y DI YRR (gl -1l A1 WeE B e DIS(IATA)
A HREH LTTE &

B g %5 k=i g |

C. gEEH] . TU 3R

D. THFTET A&

It feu e faded! § ¥ G813k 9L ;

1TL.A-I,B-IV,C-[, D-1l
2A-1,B-1,C=IV, D-TI
FA-1,B-IV,C-1l, D-1l
4A-IV, B-1,C-1, D-1l

[Question ID = 667][Question Description = 167_93_TMA_0OCT22_52_Q67]

1. 1 [Option ID = 2665]
2. 2 [Option ID = 2666]
3. 3 [Option ID = 2667]
4. 4 [Option ID = 2668]

68) Match List | with List Il
List | List Il
Destination
State
A. Valparai . Tamil Nadu
B. Mount Abu II. Rajasthan
C. Pahalgam [l Jammu & Kashmir
D. Munnar V. Kerala

Choose the correct answer from the options given below:

TA-LB-1LC-1I,D- IV
2ZA-ILB-LC-lIlLB-IV
2A-N.B-ILE-D-IV
4A-IVB-IILC-ILD-1




! -1 I 1 -1l H A DI ;

gl -| o0 ®a Tl -1 Td

A, TOWRTS 1. GRS

B HIG< 4 11, TR

C. UBEHTH i11, S 3R HER
D. AR IV, e

T Tqu e fasped! B9 Un Sw g

1L.A-1,B=Il,C=l, D-1¥
2ZA-I,B-1,C=ll, D-1V
FA-,B-1II,C-1, D=1V
4A-IW, B-11,C-1l, D-]

[Question ID = 668][Question Description = 168_93_TMA_0OCT22_52_Q68]
1. 1 [Option ID = 2669]
2. 2 [Option ID = 2670]
3. 3 [Option ID = 2671]
4. 4 [Option ID = 2672]

69) MMatch List | with List 1l

List | List 1
Airline Abbreviation for wheelchair z
Explanation
request
A WERED I. Request for a wheelc!lair to carry the
passenger on or off the aircraft
Il. Regquest to check in a3 wheelchair with a
B. WCEBD
wet cell battery
. R t to check i Il
| — equest to . eck in a manually
operated wheelchair
IV. Reguest to check in'a wheelchair with
D, WCHCE
dry cell battery

Choaose the correct answer from the options given below:

T.A-WB-NMC-I,B-|
ZeA-IB =L E- IV B =
LA-NB-LC-IV, D=1
4AA-MB-LC-I,D-1I




! -1 I 1 -1l H A DI ;

N %%ﬁ%%ﬁmﬁ@-um

. T 10E I 97 3R oq 461 @I T
A e E L o e
B, S=g Ul 8 2l 11 71iefl 91 &1 g i SR @1 =T
c.ssgddissg (11, I ST o ard R @ 7T
D.Seg Huad Iv. G I 98 gad @la 9 &1 AT
J fau o fawedt @ W GREAE

TLA-I,B-IV,C-1, D-I
2A-1,B=-1I,C-IV, D-I
3A-M,B-1,C-V, D-1
4A-IV,B-1,C-11, D-I

[Question ID = 669][Question Description = 169_93_TMA_OCT22_S2_Q69]

1. 1 [Option ID = 2673]
2. 2 [Option ID = 2674]
3. 3 [Option ID = 2675]
4. 4 [Option ID = 2676]

70) Match List | with List I

List |

List 11

Name of Beach in India

Name of the State in which the Beach is
located

A, Mandwi |. Karnataka

B, Mulki 1. Tamil Nadu

C. Manginapudi Ill. Andhra Pradesh
D. Elliot Beach IV. Gaa

Choose the correct answer from the options given below:

TA-LB-1L,C-1M,D-1
2Z2A-M.B-W, C-LD-1
RA-ILB-NLE-|LD-IV
4AA-IV,B-LC-ILD-1

e -1 B Y -1 gATd B

gl -| RO H SHgl [daR (gl -1l 98 399 9l 98 IeAN ogadd
A, HIUSE] I Fle®

B. Hedl II, TS

C. AT 111, SfUTEES

D. 3t ¥ V. 7T

Jd gu e fadedf B9 T8I S 9T ;

1TLA-1,B-1l,C=IV, DIl
2ZA-,B-IV,C-1, D-1l
FA-I,B=-1Il,C-1, D=1V
4A-W, B-1,C-1, D-1

[Question ID = 670][Question Description = 170_93_TMA_0OCT22_52_Q70]

1. 1 [Option ID = 2677]



2. 2 [Option ID = 2678]
3. 3 [Option ID = 2679]
4. 4 [Option ID = 2680]

71)  Match List | with List II
List | List Il
F&B Outlet/Chain
Key Person Associated
A. Haldiram's I. Shri Shiv Kishan Agrawal

B. Bikanervala

Il. Shri Lal Chand Agarwal

C. Barbeque Nation

I1l. Shri Sajid Dhanani

[ Saravana Bhavan

IV. Shri F Rajagopal

Choaose the correct answer from the options given below:

TA-LBE-ILC-NILD-IV
ZA-MB-HILC-1, D -
LA-ILB-IV,E-L D=
4A-LB-LC-IV,D-1l

T -1 I -1 Ao P ;

Tl -| T TS & Sidedie / & o1 -1 5 9SSl
A, BTCIRIH 1. 41 Tra T ermarg
B, si@FRare 11, 51 TiIciEG Sdre

C. SRET IIH 11, 5f1 TrE s

D. TG0 e v, 2t O TreaTE

Jd Tqu e fapedl # 9 ug Ju g

1L.A-I,B-1l,C=1l, D-1V
2ZA-W, B-1I,C-1l, D-]
3A-I,B-IV,C=1 D=1
4.8 -11,8-1,C-IV, D-1I

[Question ID = 671][Question Description = 171_93_TMA_0OCT22_S2_Q71]

1. 1 [Option ID = 2681]
2. 2 [Option ID = 2682]
3. 3 [Option ID = 2683]
4. 4 [Option ID = 2684]




72) Match List | with List 1|

List | List Il
Name of Travel Compan
pany Year of Establishment
. l. 1948
A, Balmer Lawrie
B.SOTC 1. 1981
C. TCl . 1887
D.ITH V. 1961

Choose the correct answer from the options given below:
1TLA=I,B-I,€-1, D-IV
2.8-11,B-1,C=-V, -1l
3:A=-WVB=1,€=011, B=1l
AA-1,B-IV,C=1, D=1l

Tl - @l g -1 | g S

1 -| 80 B @ A Tl -l RO IS
A, R AN . 1949

B, U 3l 11, 1981

C. AU 3 . 1867

D.HF AT V. 1961

I feu e fawed! & | wgl gue gi-e ;

TLA-I,B-II,C-1, D=1V
2ZA-M,B-1,C-V, D-1
3A-IV,B-1,C-1I, D-I1(lisrepeated)
4A-1,B-IV,C-1, D-1I

[Question ID = 672][Question Description = 172_93_TMA_0OCT22_S2_Q72]
1. 1 [Option ID = 2685]
2. 2 [Option ID = 2686]
3. 3 [Option ID = 2687]
4. 4 [Option ID = 2688]



73) Match List | with List Il

List |

List Il

Plan

Tourism Circuits proposed in 12'" Five-Year

Destinations covered

A, Buddhist Circuit

Nagarjunakonda-Amaravati-

Aurangabad

B. Jain Circuit

Bhojpur-Vidisha-Damoh-

Chhtarpur

. Sufi Clrcuit

Bijapur-Gulbarga-Shirdi-

Aurangabad-Mumbai

D. Sarv Dharam Circuit

V.
Magoor

Tirupati-Chennai-Velankanni-

Choose the correct answer from the options given below:

T.A-LE-IV,C-1IL,D-1l
ZA-LB-ILC-NILD-IV
3A-ILB-1LC-1M, D=1l
AA-ILB-IVMC-ILD -]

Tl - B = -1 g Sife

g1 -1 (1281 daautg g | T g -1 @Ta-SE i)
. AT [ ST-3Ha]-
A. §lg Hide -
B, 5 Gfthe 11, HieTgR-fafEe-eae-a W
1. AR - RSl
C. g Hihe -
D. ¥4 4t Widhe Iv. e gid-a9s-aeHsT=H-ArR
Jid Tgu e faspedl # 9 gl 9ol gAe

TLA-1,B-IV,C-1ll, D~
2ZA-1,B-1,C=lI, D-1V
FA-MI,B-1,C=IV, D-1lI
4A-11,B-IV,C-1ll, D-]

[Question ID = 673][Question Description = 173_93_TMA_0OCT22_S2_Q73]

1. 1 [Option ID = 2689]
2. 2 [Option ID = 2690]
3. 3 [Option ID = 2691]
4. 4 [Option ID = 2692]




74)

Match List | with List 11

List |

List II

Menu (Food/Dish)

Regional (Cuisine/GI Tag-State)

A. Kovilpatti Kadalai Mithai

I. Tamil Nadu

B. Mihidana and Sitabhag

Il. West Bengal

C. Silac Khaja

I, Bihar

D. Haleem

V. Telangana

Choose the correct answer fram the options given below:

T.A-LB-ILC-1ILD-IY¥
Z2A-MB-ILC-1, B -
LA-NLB-IV,C-1,D-1
4AA-ILEB-1LC-1V,D-1lI

! - Bl 3 -1 A DI :

g1 -| ¥ieH / T ol -1l &
A, DIGTUE] e HeE I afRATS
g, fafgam six dianim I, uRE e
C. Tyena Erar Il TEER

D. 50IH WAGHUIGH
I g fapedl B9 Ue S g

1TLA-1,B-1,C=Il, D-1V

2

AN BT, C-1, D-1

FA-,B-IV,C-| D-I
4A-11,B-1,C=IV, D-1

[Question ID = 674][Question Description = 174_93_TMA_OCT22_S52_Q74]
1. 1 [Option ID = 2693]
2. 2 [Option ID = 2694]
3. 3 [Option ID = 2695]
4. 4 [Option ID = 2696]

75)

Match List | with List 11

List 1 List Il
Author/Thinker

T Contribution
A, Max Weber |. Howthorne Studies
B. Elton Mayeo Il. Bureaucracy

C. Herbet Simon

Ill. Principles of Backlash

D. Rensis Likert

V. Systems of Leadership

E. Alex Osbormn

\/. Brainstorming

Choose the correct answer from the options given below:

1LLA=1,B=-1,E-Ill B=IV, E-V
2ZA-I,B-N,€-NM, B-V, E-I|

A=, B-IV,C-V, B-=1|, E-I

AA-N,B-1,C-1, B-IV, E-V




! -1 I 1 -1l H A DI ;

W -| T / e Al -1l IFEHE

A, TG 38T 1. BIYI e

B, e 741 Il AERI-GA

c. gde M Ii1, SEErE & gl
D. 3 @ I\, A ToTE

E. Ui STga VACEIEE=UE!

J= fRu e fawed! § ¥ 9 IR I

T.A-1,B-W, E-]Il, D-IV, E-V
2Z8-1,B-1l,C-V, B-V, E-I
2 A-NB=WV, G-V, B =1, E=l
AA-U,B=-1,E-TIl, D-1V, E-V

[Question ID = 675][Question Description = 175_93_TMA_0OCT22_S2_Q75]
1. 1 [Option ID = 2697]
2. 2 [Option ID = 2698]
3. 3 [Option ID = 2699]
4. 4 [Option ID = 2700]

76) Arrange the following organisations chronologically accerding to the years of
establishment:

AL IATO
B.ICPB
C, ITDC
D. TAAI

Choose the correct answer froam the options given below;

1.0,CAB
2B ACD
3.C, B, DA
1.AD B C

YA & TY D DIcipH & HIUR FHHiead Seii3i Bl sgaiedd Difae-
A, 35T 21 31

B. 33 4L WL &L

C. 3113, 1. 31 9.

D.8. U U 5

el Tou e fawed| | § w8l SR g

1.0,C A B
2B ACD
3.C,B DA
4 A D, B, C

[Question ID = 676][Question Description = 176_93_TMA_OCT22_S2_Q76]
1. 1 [Option ID = 2701]
2. 2 [Option ID = 2702]



3. 3 [Option ID = 2703]
4. 4 [Option ID = 2704]

77) Match List | with List 11

List 1 List 1l

Dish g i
Regional Cuisine

A, Rwangan Tsaman I. Kashmir

B. Pathiri II. Kerala

C. Khatachi Amti IIl. Maharashtra

D. Akoori V. Parsi

Choose the correct answer from the options given below:
T.A-LB-1L,C-1l,D-IV
2ZA-M.B-1ILC-I,D-]
2A-ILB-IV,E-LD-1
AA-N.B-LC-IV,D-1

Tl - @] gl -1 e DI ;

Tl -| EE GeiBCE]
A, TEHE S | BN
B, 9y II, B
C. @eTHl 92 111, BRI
D. B IV, Ot
d fou e fapedl 8 4 U5l St A0

1.A-1,B=0l,C=l, D-1V
2ZA-W,B-1Il,C-1l, D-1
S A-IL,B-IV,C-1 D-1I
4 A-1,B-1,C-IV, D-1l

[Question ID = 677][Question Description = 177_93_TMA_0OCT22_52_Q77]
1. 1 [Option ID = 2705]
2. 2 [Option ID = 2706]
3. 3 [Option ID = 2707]
4. 4 [Option ID = 2708]

78) Arrange the following mountain ranges from Nerth to South India:
A, Kanchenjunga
B. Palkonda
C. Aravali
D. Vindhyachal
Choose the correct answer from the options given below

1.B,C, DA
2CDEA
LACDE
40,4 B C



Frafarad gad aans ®f 3o U SR YR @] 3] & o8 § oaied o1 -
A, AT

B, TP 8T

C. 3RTFT

D. fa=ai=e

i Tqu TE fawed| 5 § el S g

1.B,C, DA
2CDEBA
3.ACDE
4.0, A B C

[Question ID = 678][Question Description = 178_93_TMA_0OCT22_52_Q78]
1. 1 [Option ID = 2709]
2. 2 [Option ID = 2710]
3. 3 [Option ID = 2711]
4. 4[Option ID = 2712]

79) Arrange the years of establishment of national parks in India in sequential order
A, Dachigam National Park, Jammu and Kashmir
B. Bandhavgarh National Park, Madhya Pradesh
C. Kaziranga National Park, Assam
D. Eravikulam National Park, Kerala
Choose the correct answer from the options given below

1.C, DB A
20,4 CE
3LACDE
48,C, DA

HRAH WP I DI T B SIAHHIHR ARG Sifo ;
A GRTHIPE SEE, W9 SR BRER

B. §iYaTe TP ITH, HEUSY

C. BTSN UEA IGH, 30

D. WiidgoH WA IgH, I

ia e e el | § 98l SR g

1.C, DB A
20 A CE
3.ACDE
4B,CD A

[Question ID = 679][Question Description = 179_93_TMA_0OCT22_S2_Q79]
1. 1 [Option ID = 2713]
2. 2 [Option ID = 2714]
3. 3 [Option ID = 2715]
4. 4 [Option ID = 2716]



80) Arrarige major breakthrough of Expedia.com between 1998 and 2001, in sequential
order

&, Expedia.co.uk, launches ‘Expedia To Go on WAP and PDA'

B, USA Networks, Inc. announced an agreement to acquire a controlling interest in
Expedia.lnc,

C. Voted No. 1 travel site in Europe

D. Expedia.co.uk, launched in the UK

E. Expedia.co.uk’s parent group, Bxpedia.inc, floated on the Nasdag stock exchange
Choose the correct answer from the options given below

A B D EC
B8 CDE
DA B CE
O, CEAEB

TFGUITSaI DA B 1998 SR 2001 & 5 95! GHeidl | HHTHR SHaiedd DI ;
A TR SH1®1 %, gR1 Taausg € M oiH seg U gl G5 i 31 v &) e

B. 4 U U Jeghy, 5® LUl sd3® H (2F0 Ui 5q 9Hd &) 9rsu|

C. TR19 ¥ YAy I TS & foid AdeH fodr

D. g%, H THIUITSTLH! Ik ®1 ZREaTd B

£, TrdiTeaI o 9o Uie 99, USHUfedl 30 ASl® w1 Tagas o1 A1

474 fau U faeedl 5 9 U8l SR 94

J5 WM —-

ABDEC
BACDE
O, A B CE
LhC, EAB

a0 -

[Question ID = 680][Question Description = 180_93_TMA_OCT22_S2_Q80]
1. 1 [Option ID = 2717]
2. 2 [Option ID = 2718]
3. 3 [Option ID = 2719]
4. 4 [Option ID = 2720]



81) Arrarige the sequence of servicing a reom by hotel housekeeping personnel:
A. Enter Room- Guest Belonging Check
B. Bed Making- Room Cleaning
C. Maintenance Check - Air-out the Room
D. Room Status Update - Checklist Entry
E, Bath Reem Cleaning - Final Check
Choose the correct answer from the options given below

1.ABCDE
2ACEED
3LABECD
40,4 B EC

THL H a1 61 & HGH H Bl sIIuDIT HHANGl gR] BT S a1 $F B e,
®H d ast|

A BHL H UaY - ol © wEE ol 6

B. TO TRTHT - AT HIP BT

C. TEEE P 9 - B 9 591 g1 @

D. PR @1 (U B1 A (I9ST B - §id ol J wiafgl s

E BT ] 95T - aH g

il fgu e fawed| & € 48l g g

1.ABCDE
2ACBED
3.ABECD
40,4 B EC

[Question ID = 681][Question Description = 181_93_TMA_OCT22_S2_Q81]
1. 1 [Option ID = 2721]
2. 2 [Option ID = 2722]
3. 3 [Option ID = 2723]
4. 4 [Option ID = 2724]



82) Butler proposed a tourism area life cycle model of tourism destination involving
various stages. The stages are mentioned below. Arrange these stages in the correct
sequence.

&, Development

B. Exploration

C. Consolidation

D. Stagnation

E, Decline

Choose the correct answer from the options given below

1.B.ACDE
2ABCED
3.CA B DE
48 AD0CE

Seoi A i =R drd wded had & gded & Slig-9% Al @l WEid el 3
RO fGU e §1 39 Tl & 98l 9 § oyaiedd $il
A, f[aerg

B. SN[

C. HSA

BRIIGEL]

E TaA

7 fau U faedl § & W6l S 9

1.B.ACDE
2ABCED
3.CABDE
48.ADCE

[Question ID = 682][Question Description = 182_93_TMA_0OCT22_52_Q82]
1. 1 [Option ID = 2725]
2. 2 [Option ID = 2726]
3. 3 [Option ID = 2727]
4. 4 [Option ID = 2728]



83)

Given below are two statements, one is labelled as Assertion A and the other
is labelled as Reason R

Assertion A: Travel major, Thomas Cook India backed by Fairfax Financial Holdings
has been en a spree to acquire travel comparnies that have taken over Kueni's travel
business in India and Hong Kong for Rs 535 crore.

Reason R: Acquisition of Kuoni's tour operating and retailing businesses in India and
Hong Kong is a strategic business to tap domestic tourism in [ndia.

In light of the above statements, choose the most appropriate answer from the

options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are carrect but R is NOT the correct explanation of A
3. A is correct but R is not correct

4, Ais not correct but R is correct

Tl wyA QU g te @ @Y (A) 3 g6t & HRYI (R) H] 1 6

ARG (A) - IR B BIOAET elica™ B 9Add 991 &3 @1 98 49 oo
$fem, gmn ol & ey & 31 § &1 6% o, a4 YRd H 3R g |
e @il & g1 el @] 535 Bs H HiUafed fag 81

@R (R) : YR AR e & $af- 22 Hare B daurd & He0 HRd §
o] Ted & oHawd & UTE 9 6 Us U109 ae Bl

IYdd HYHA] & el H FHiidd faeedl § U 8l 3w 2 ;

1.A 3R RGHI O81 § IR R, A DI o] A

2. A 3R RGHI 81 € R R, A B Uel AN A6l 5
3.A¥El ¢ T4 R 92 el ol

4,A 98 6l & R R HEI 6

[Question ID = 683][Question Description = 183_93_TMA_OCT22_S2_Q83]
1. 1 [Option ID = 2729]
2. 2 [Option ID = 2730]
3. 3 [Option ID = 2731]
4. 4 [Option ID = 2732]



84) Conjoint Analysis is conducted using the following steps. Arrange them in the order
in which these are taken.

A, Select a conjoint analysis procaedure

B. Assess reliability and validity

C. Interpret results

D.Construct-the stimuli

E, Decide on the form of input data

Choose the correct answer from the options given below

ABCDE
B D.ECA
O EACE
JE DG B A

5 WM -

Prfaiad ST @1 vam & g 9ae faeanu g 9 &) e wa | 3 e g
I= SHeS ggieyd Bifag :

A. Hga Tawetgo] Uishal &l 9o 1

e, fouwiod Syar o Pafw e

¢, it St oare S

D. eI & [Fafor &1

£, a9 vims & =y T AT s

Fafer e # E TE TR

ABCDE
B D ECA
O EACE
JE DG E A

D -
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85) Given below are two statements, one is labelled as Assertion A and the other

is labelled as Reason R

Assertion A : Medern town planning emerged when the population became
inareasingly urbanised and was, largely, a response to the increasing ‘svils’ of urban
living in terms of social and environmental impacts.

Reason R : Without planning there is a risk that an activity will be unregulated,
formless and haphazard likely to lead to a range of negative economic, social

and envirenmental impacts,

In light ef the above statemenits; choose the correct answer from the options given

below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4, Ais false but Ris true
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86) Given below are two statements
Statement |: Poisson distribution is always symmetric
Statement lI: For a Paisson distribution, the mean and variance are equal

In light of the above statements, choose the most appropriate answer from the
options given below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement 1l are incorrect
3. Statement | is correct but Statement || is incorrect
4, Statement | s incorrect but Statement |l is correct
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87) Given below are two statemeants

Statement I: Since market value is not a function of cost, minimising cost will not
result in the highest price for a company’s shares,

Statement Il Since market value is not a function of market share, maximising
miarket share will not result inthe highest price for a company's shares.

In light of the above statements, choose the most appropriate answer from the
options given below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement 1l are incorrect
3. Statement | is correct but Statement || is incorrect
4, Statement | is incorrect but Statement |l is correct
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88)

Given below are two statements

Statement I: Some people hold the opinien that ecotourism is a subset of tourism
which takes care of the environment while the other types of teurism do not.

Statement ll: Ecotourism itself cannot survive indefinitely in a situation where non-
ecotourispy activities keep on depleting resources as a result of the interchanges of
material and energy between and ameng ecotourism, non-ecotourism activities and
the ecological systemn,

In light of the above statements, choose the most appropriate answer from the

options given below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement |l is incorrect
4, Statement | s incorrect but Statement |l is correct
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89)

Given below are two statements

Statement I: BExtra Mileage Surcharge is applicable to International air
transpertation when the Maximum Permitted Mileage (MPM) is more than Ticketed
Paint-Mileage (TPM),

Statement lI: if the result of TPM divided by MPM is ever 1.15000 but not higher
than 1.20, surcharge the fare by 15%.

In light of the above statements, choose the most appropriate answer from the

options given below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement 1l are incorrect

3. Statement | is correct but Statement || is incorrect
4, Statement | s incorrect but Statement |l is correct
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90)

Given below are two statements, one is labelled as Assertion A and the other
is labelled as Reason R

Assertion A: Oberoi Group has many awards to its credit with the recent ones
being The Best Hotels in Asia (2020), Fodor's Finest Hotels, USA te The Oberoi
Amarvilas, Agra and Best Ever Hotel/Resort in India (2021) by The Gallivanter's Guide
to the Oberoi Ldaivilas, Udaipur.

Reason R: The Oberci Group is committed to meeting and exceeding the
expectations of their guests through unremitting dedication to every aspect of
service, They continue the Oberoi tradition of pioneering in the hospitality industry,
striving for unsurpassed excellence and creating extraordinary value for the
shareholders.

In light ef the above statements, choose the most appropriate answer from the

options given below

1. Both A and R are correct and R is the correct explanation of A

2, Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4, A'is not correct but R is correct
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1)

Read the passage carefully and answer the question that follows

let Airways was the shining face of the Indian aviation secter for
over successful two decades and the leader of Indian Sky. While celebrating its
silver jubilee year, Jet Airways, once a strong competitor to Air India, KLM, and Air
France in International Sector and Indige and Spice Jet in the domestic sector
grounded majority of its flights out of a total of 119 aircrafts due to financial
mismanagement. The airline collapsed completely at a time when about 23000
employees and lakhs of loyal passengers were dismayed at the decisions of Mr
Govyal, The reasen was that Jet Airways did not have the cash to pay aircraft leasing
companies such as Asrcap Holdings, GE Capital Aviation Services, Avolon and BOC
Aviation, As such, Etihad Airways had a 24 percent stake but it refused to save the
airline from bankrupicy due to the reluctance of Mr Goyal to step down as the
CMD. The decision was a stumbling block for potential investors. One of the
obstacles was that Mr Naresh Goyal and his family owned 52 percent and the
aviation rules of India did not permit Etihad Airways to take over the 52 percent
stake of the airline.Whereas the State Bank of India (SBI) offered ttihad Airways to
invest more money in the airline, on the contrans, Etihad Airways wanted to sell its
entire stake and exit the business.

let Airways initially faced financial problems due to its aggressive sxpansion plan
for international flight operations, This led the company to place an order for 22
wide-body aircrafts for delivery over about 18 months, starting in 2006, thereby
depleting cash. The airline posted losses and its share of the domestic passenger
market dropped to about 15.5 percent in 2018 from 22.5 percant in 2015. As a
result, about 60 percent or more than US$600 millior, was wiped off Jet's market
value immediately. Indigo, Spicelet and GeAir dominated the domestic aviation
market as low-cost carriers and pushed back Jet Airways, The downfall began from
the acguisition of Air Sahara for 3500 million in cash in 2006 followed by
rebranding it as Jetlite, as a low-cost carrier to countef two large domestic carriers,
One basic reason for the collapse was the single owner or family-owned
management style.There was not a well-defined business model which was a hurdle
for investors, It was suggested that there should be two managements to operate
the fuli-service and the no-frills service, separately, Over and above, the fluctuating
price of aviation turbine fuel was a burden on the airline since the airline was a
miajor importer of turbine fuel. Jet Airways failed to manage its balance sheets and
was caught out by these cyclical changes. Attempts were made by the TATAs and
Etihad Airways to invest, but they, reportedly, refused to extend investment support
since Mr Goyal was at the helm.

Which international airline was not the competitor of Jet Airways in the international

airline market in India?

1. Lufthansa
2. Air India
3. KLM

4, Air France
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2)

Read the passage carefully and answer the question that follows

let Airways was the shining face of the Indian aviation secter for
over successful two decades and the leader of Indian Sky. While celebrating its
silver jubilee year, Jet Airways, once a strong competitor to Air India, KLM, and Air
France in International Sector and Indige and Spice Jet in the domestic sector
grounded majority of its flights out of a total of 119 aircrafts due to financial
mismanagement. The airline collapsed completely at a time when about 23000
employees and lakhs of loyal passengers were dismayed at the decisions of Mr
Govyal, The reasen was that Jet Airways did not have the cash to pay aircraft leasing
companies such as Asrcap Holdings, GE Capital Aviation Services, Avolon and BOC
Aviation, As such, Etihad Airways had a 24 percent stake but it refused to save the
airline from bankrupicy due to the reluctance of Mr Goyal to step down as the
CMD. The decision was a stumbling block for potential investors. One of the
obstacles was that Mr Naresh Goyal and his family owned 52 percent and the
aviation rules of India did not permit Etihad Airways to take over the 52 percent
stake of the airline.Whereas the State Bank of India (SBI) offered ttihad Airways to
invest more money in the airline, on the contrans, Etihad Airways wanted to sell its
entire stake and exit the business.

let Airways initially faced financial problems due to its aggressive sxpansion plan
for international flight operations, This led the company to place an order for 22
wide-body aircrafts for delivery over about 18 months, starting in 2006, thereby
depleting cash. The airline posted losses and its share of the domestic passenger
market dropped to about 15.5 percent in 2018 from 22.5 percant in 2015. As a
result, about 60 percent or more than US$600 millior, was wiped off Jet's market
value immediately. Indigo, Spicelet and GeAir dominated the domestic aviation
market as low-cost carriers and pushed back Jet Airways, The downfall began from
the acguisition of Air Sahara for 3500 million in cash in 2006 followed by
rebranding it as Jetlite, as a low-cost carrier to countef two large domestic carriers,
One basic reason for the collapse was the single owner or family-owned
management style.There was not a well-defined business model which was a hurdle
for investors, It was suggested that there should be two managements to operate
the fuli-service and the no-frills service, separately, Over and above, the fluctuating
price of aviation turbine fuel was a burden on the airline since the airline was a
miajor importer of turbine fuel. Jet Airways failed to manage its balance sheets and
was caught out by these cyclical changes. Attempts were made by the TATAs and
Etihad Airways to invest, but they, reportedly, refused to extend investment support
since Mr Goyal was at the helm.

What was the immediate reaction of the State Bank of India?

1.To go for legal action

2, To identify a buyer of the company
3, To release more loans

4, To find suitable investors
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3)

Read the passage carefully and answer the question that follows

let Airways was the shining face of the Indian aviation secter for
over successful two decades and the leader of Indian Sky. While celebrating its
silver jubilee year, Jet Airways, once a strong competitor to Air India, KLM, and Air
France in International Sector and Indige and Spice Jet in the domestic sector
grounded majority of its flights out of a total of 119 aircrafts due to financial
mismanagement. The airline collapsed completely at a time when about 23000
employees and lakhs of loyal passengers were dismayed at the decisions of Mr
Govyal, The reasen was that Jet Airways did not have the cash to pay aircraft leasing
companies such as Asrcap Holdings, GE Capital Aviation Services, Avolon and BOC
Aviation, As such, Etihad Airways had a 24 percent stake but it refused to save the
airline from bankrupicy due to the reluctance of Mr Goyal to step down as the
CMD. The decision was a stumbling block for potential investors. One of the
obstacles was that Mr Naresh Goyal and his family owned 52 percent and the
aviation rules of India did not permit Etihad Airways to take over the 52 percent
stake of the airline.Whereas the State Bank of India (SBI) offered ttihad Airways to
invest more money in the airline, on the contrans, Etihad Airways wanted to sell its
entire stake and exit the business.

let Airways initially faced financial problems due to its aggressive sxpansion plan
for international flight operations, This led the company to place an order for 22
wide-body aircrafts for delivery over about 18 months, starting in 2006, thereby
depleting cash. The airline posted losses and its share of the domestic passenger
market dropped to about 15.5 percent in 2018 from 22.5 percant in 2015. As a
result, about 60 percent or more than US$600 millior, was wiped off Jet's market
value immediately. Indigo, Spicelet and GeAir dominated the domestic aviation
market as low-cost carriers and pushed back Jet Airways, The downfall began from
the acguisition of Air Sahara for 3500 million in cash in 2006 followed by
rebranding it as Jetlite, as a low-cost carrier to countef two large domestic carriers,
One basic reason for the collapse was the single owner or family-owned
management style.There was not a well-defined business model which was a hurdle
for investors, It was suggested that there should be two managements to operate
the fuli-service and the no-frills service, separately, Over and above, the fluctuating
price of aviation turbine fuel was a burden on the airline since the airline was a
miajor importer of turbine fuel. Jet Airways failed to manage its balance sheets and
was caught out by these cyclical changes. Attempts were made by the TATAs and
Etihad Airways to invest, but they, reportedly, refused to extend investment support
since Mr Goyal was at the helm.

What was the first reason for the downfall of Jet Airways 7

1. Purchase of 22 wide-body aircrafts

2, Good deal with aireraft leasing companies
3, Single Management

4, Aviation turbine fuel
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4)

Read the passage carefully and answer the question that follows

let Airways was the shining face of the Indian aviation secter for
over successful two decades and the leader of Indian Sky. While celebrating its
silver jubilee year, Jet Airways, once a strong competitor to Air India, KLM, and Air
France in International Sector and Indige and Spice Jet in the domestic sector
grounded majority of its flights out of a total of 119 aircrafts due to financial
mismanagement. The airline collapsed completely at a time when about 23000
employees and lakhs of loyal passengers were dismayed at the decisions of Mr
Govyal, The reasen was that Jet Airways did not have the cash to pay aircraft leasing
companies such as Asrcap Holdings, GE Capital Aviation Services, Avolon and BOC
Aviation, As such, Etihad Airways had a 24 percent stake but it refused to save the
airline from bankrupicy due to the reluctance of Mr Goyal to step down as the
CMD. The decision was a stumbling block for potential investors. One of the
obstacles was that Mr Naresh Goyal and his family owned 52 percent and the
aviation rules of India did not permit Etihad Airways to take over the 52 percent
stake of the airline.Whereas the State Bank of India (SBI) offered ttihad Airways to
invest more money in the airline, on the contrans, Etihad Airways wanted to sell its
entire stake and exit the business.

let Airways initially faced financial problems due to its aggressive sxpansion plan
for international flight operations, This led the company to place an order for 22
wide-body aircrafts for delivery over about 18 months, starting in 2006, thereby
depleting cash. The airline posted losses and its share of the domestic passenger
market dropped to about 15.5 percent in 2018 from 22.5 percant in 2015. As a
result, about 60 percent or more than US$600 millior, was wiped off Jet's market
value immediately. Indigo, Spicelet and GeAir dominated the domestic aviation
market as low-cost carriers and pushed back Jet Airways, The downfall began from
the acguisition of Air Sahara for 3500 million in cash in 2006 followed by
rebranding it as Jetlite, as a low-cost carrier to countef two large domestic carriers,
One basic reason for the collapse was the single owner or family-owned
management style.There was not a well-defined business model which was a hurdle
for investors, It was suggested that there should be two managements to operate
the fuli-service and the no-frills service, separately, Over and above, the fluctuating
price of aviation turbine fuel was a burden on the airline since the airline was a
miajor importer of turbine fuel. Jet Airways failed to manage its balance sheets and
was caught out by these cyclical changes. Attempts were made by the TATAs and
Etihad Airways to invest, but they, reportedly, refused to extend investment support
since Mr Goyal was at the helm.

Why did Etihad Airways refuse to invest in Jet Airways?

1. Bankruptey

2, Civil Aviation investment rules
3. Mr. Naresh Goyal as the CMD
4, Acguisition of Jet Lite
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5)

Read the passage carefully and answer the question that follows

let Airways was the shining face of the Indian aviation secter for
over successful two decades and the leader of Indian Sky. While celebrating its
silver jubilee year, Jet Airways, once a strong competitor to Air India, KLM, and Air
France in International Sector and Indige and Spice Jet in the domestic sector
grounded majority of its flights out of a total of 119 aircrafts due to financial
mismanagement. The airline collapsed completely at a time when about 23000
employees and lakhs of loyal passengers were dismayed at the decisions of Mr
Govyal, The reasen was that Jet Airways did not have the cash to pay aircraft leasing
companies such as Asrcap Holdings, GE Capital Aviation Services, Avolon and BOC
Aviation, As such, Etihad Airways had a 24 percent stake but it refused to save the
airline from bankrupicy due to the reluctance of Mr Goyal to step down as the
CMD. The decision was a stumbling block for potential investors. One of the
obstacles was that Mr Naresh Goyal and his family owned 52 percent and the
aviation rules of India did not permit Etihad Airways to take over the 52 percent
stake of the airline.Whereas the State Bank of India (SBI) offered ttihad Airways to
invest more money in the airline, on the contrans, Etihad Airways wanted to sell its
entire stake and exit the business.

let Airways initially faced financial problems due to its aggressive sxpansion plan
for international flight operations, This led the company to place an order for 22
wide-body aircrafts for delivery over about 18 months, starting in 2006, thereby
depleting cash. The airline posted losses and its share of the domestic passenger
market dropped to about 15.5 percent in 2018 from 22.5 percant in 2015. As a
result, about 60 percent or more than US$600 millior, was wiped off Jet's market
value immediately. Indigo, Spicelet and GeAir dominated the domestic aviation
market as low-cost carriers and pushed back Jet Airways, The downfall began from
the acguisition of Air Sahara for 3500 million in cash in 2006 followed by
rebranding it as Jetlite, as a low-cost carrier to countef two large domestic carriers,
One basic reason for the collapse was the single owner or family-owned
management style.There was not a well-defined business model which was a hurdle
for investors, It was suggested that there should be two managements to operate
the fuli-service and the no-frills service, separately, Over and above, the fluctuating
price of aviation turbine fuel was a burden on the airline since the airline was a
miajor importer of turbine fuel. Jet Airways failed to manage its balance sheets and
was caught out by these cyclical changes. Attempts were made by the TATAs and
Etihad Airways to invest, but they, reportedly, refused to extend investment support
since Mr Goyal was at the helm.

The reason for Jet Airways to purchase Air Sahara by paying USS 500 Million was

1.To grab the deal

2, To foray into the demestic aviation market as a no-frills airline
3. To invest the profit of the company

4, To find Etihad Airways as its investor
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1)

Read the passage carefully, answer the question that follows
Makemy Trip.com and Its Acquisitions

KMakeMyTrip (MMT) is an online travel agent that began the business tc empower
travellers in the internet age. Having leveraged the ushering of infetmation and
commuriication technelogy, the MMT has provided all kinds of hassle-free travel
solutions. The Company has witnessed ups and downs in the business over the last
20 years, The Company took strategic decisions to become an online travel agency
leader by acquiring its competitors as it was a threat to the business. Thus, the
Company toock over-service intermediaries such as HotelTravel.com in 2012,
Easytobook.com in February 2014, MyGola in April 2015, Ibibo Group in October
2076 and Quest2Travel in May 2019,

As an attempt to raise funding for the company to expand the herizon of business
operation, the MMT raised initial funding of US$ 10 million in 2005 followed by
Us$13 millien in 2006 and $15 million in series C funding in 2007. The MMT
entered into the IPO and raised USS 330 million. Investors associated with the MMT
for funding are Tiger Fund, Helion Venture Partners,Sierra Ventures & SAIF Partners
and Ctrip, Prosus &Naspers

The MMT has developed business medels such B2C and MyBiz to offer customizaed
and corporate travel-related services, The MMT has a market share of 24 percent in
domestic flight ticket booking and it is the biggest revenuecontributer {56%) and is'
getting a better margin in hotel room booking. The idea of starting MMT came
from selling cars online and searching holiday eptions in thailand.

Why MakeMyTrip.com is a business leader?

1. Followed the strategy of merger and acquisitions
2. Inovated idea of providing enline travel solutions
3, Developed the B2B model

4, Disruptor of a conventional travel business
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Read the passage carefully, answer the question that follows
Makemy Trip.com and Its Acquisitions

KMakeMyTrip (MMT) is an online travel agent that began the business tc empower
travellers in the internet age. Having leveraged the ushering of infetmation and
commuriication technelogy, the MMT has provided all kinds of hassle-free travel
solutions. The Company has witnessed ups and downs in the business over the last
20 years, The Company took strategic decisions to become an online travel agency
leader by acquiring its competitors as it was a threat to the business. Thus, the
Company toock over-service intermediaries such as HotelTravel.com in 2012,
Easytobook.com in February 2014, MyGola in April 2015, Ibibo Group in October
2076 and Quest2Travel in May 2019,

As an attempt to raise funding for the company to expand the herizon of business
operation, the MMT raised initial funding of US$ 10 million in 2005 followed by
Us$13 millien in 2006 and $15 million in series C funding in 2007. The MMT
entered into the IPO and raised USS 330 million. Investors associated with the MMT
for funding are Tiger Fund, Helion Venture Partners,Sierra Ventures & SAIF Partners
and Ctrip, Prosus &Naspers

The MMT has developed business medels such B2C and MyBiz to offer customizaed
and corporate travel-related services, The MMT has a market share of 24 percent in
domestic flight ticket booking and it is the biggest revenuecontributer {56%) and is'
getting a better margin in hotel room booking. The idea of starting MMT came
from selling cars online and searching holiday eptions in thailand.

Whiat was the interest of MIMT 1o take over Hotel Travel.com?

1. Networking
2. Brand eguity
3, Diversification
4. Consolidation
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Read the passage carefully, answer the question that follows
Makemy Trip.com and Its Acquisitions

KMakeMyTrip (MMT) is an online travel agent that began the business tc empower
travellers in the internet age. Having leveraged the ushering of infetmation and
commuriication technelogy, the MMT has provided all kinds of hassle-free travel
solutions. The Company has witnessed ups and downs in the business over the last
20 years, The Company took strategic decisions to become an online travel agency
leader by acquiring its competitors as it was a threat to the business. Thus, the
Company toock over-service intermediaries such as HotelTravel.com in 2012,
Easytobook.com in February 2014, MyGola in April 2015, Ibibo Group in October
2076 and Quest2Travel in May 2019,

As an attempt to raise funding for the company to expand the herizon of business
operation, the MMT raised initial funding of US$ 10 million in 2005 followed by
Us$13 millien in 2006 and $15 million in series C funding in 2007. The MMT
entered into the IPO and raised USS 330 million. Investors associated with the MMT
for funding are Tiger Fund, Helion Venture Partners,Sierra Ventures & SAIF Partners
and Ctrip, Prosus &Naspers

The MMT has developed business medels such B2C and MyBiz to offer customizaed
and corporate travel-related services, The MMT has a market share of 24 percent in
domestic flight ticket booking and it is the biggest revenuecontributer {56%) and is'
getting a better margin in hotel room booking. The idea of starting MMT came
from selling cars online and searching holiday eptions in thailand.

What is-the business model of MMT?

1. Hotel Room Booking
2,B2C and My Biz

3, Event Planning
4,B2B and C2C
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Read the passage carefully, answer the question that follows
Makemy Trip.com and Its Acquisitions

KMakeMyTrip (MMT) is an online travel agent that began the business tc empower
travellers in the internet age. Having leveraged the ushering of infetmation and
commuriication technelogy, the MMT has provided all kinds of hassle-free travel
solutions. The Company has witnessed ups and downs in the business over the last
20 years, The Company took strategic decisions to become an online travel agency
leader by acquiring its competitors as it was a threat to the business. Thus, the
Company toock over-service intermediaries such as HotelTravel.com in 2012,
Easytobook.com in February 2014, MyGola in April 2015, Ibibo Group in October
2076 and Quest2Travel in May 2019,

As an attempt to raise funding for the company to expand the herizon of business
operation, the MMT raised initial funding of US$ 10 million in 2005 followed by
Us$13 millien in 2006 and $15 million in series C funding in 2007. The MMT
entered into the IPO and raised USS 330 million. Investors associated with the MMT
for funding are Tiger Fund, Helion Venture Partners,Sierra Ventures & SAIF Partners
and Ctrip, Prosus &Naspers

The MMT has developed business medels such B2C and MyBiz to offer customizaed
and corporate travel-related services, The MMT has a market share of 24 percent in
domestic flight ticket booking and it is the biggest revenuecontributer {56%) and is'
getting a better margin in hotel room booking. The idea of starting MMT came
from selling cars online and searching holiday eptions in thailand.

Whiat is the primary source of revenue of MMT?

1. Flight Ticket Booking
2.1PO

3, Corporate Incentive
4, Leisure Holiday
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[Question ID = 699][Question Description = 199_93_TMA_0CT22_S2_Q99]
1. 1 [Option ID = 2793]
2. 2 [Option ID = 2794]
3. 3 [Option ID = 2795]
4. 4 [Option ID = 2796]



5)

Read the passage carefully, answer the question that follows
Makemy Trip.com and Its Acquisitions

KMakeMyTrip (MMT) is an online travel agent that began the business tc empower
travellers in the internet age. Having leveraged the ushering of infetmation and
commuriication technelogy, the MMT has provided all kinds of hassle-free travel
solutions. The Company has witnessed ups and downs in the business over the last
20 years, The Company took strategic decisions to become an online travel agency
leader by acquiring its competitors as it was a threat to the business. Thus, the
Company toock over-service intermediaries such as HotelTravel.com in 2012,
Easytobook.com in February 2014, MyGola in April 2015, Ibibo Group in October
2076 and Quest2Travel in May 2019,

As an attempt to raise funding for the company to expand the herizon of business
operation, the MMT raised initial funding of US$ 10 million in 2005 followed by
Us$13 millien in 2006 and $15 million in series C funding in 2007. The MMT
entered into the IPO and raised USS 330 million. Investors associated with the MMT
for funding are Tiger Fund, Helion Venture Partners,Sierra Ventures & SAIF Partners
and Ctrip, Prosus &Naspers

The MMT has developed business medels such B2C and MyBiz to offer customizaed
and corporate travel-related services, The MMT has a market share of 24 percent in
domestic flight ticket booking and it is the biggest revenuecontributer {56%) and is'
getting a better margin in hotel room booking. The idea of starting MMT came
from selling cars online and searching holiday eptions in thailand.

Which online travel intermediaries got merged intc MMT in 2016 and 20197

A, |biba Group

B. Easytobook.comn

C. MyGola

D. Quest2Travel

Choose the correct answer from the options given below:

1.B and D only
2,Band Conly
3,4 and Conly
4, 4 and D only
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A. SIS WE

B3 EgB. @Y

C, JreAen

D. B g eaq

474 fau U faeedl 5 9 U8l SR 94

1. FAA B3R D
2. FEABARC
3, FAAAHRC
4, FaA A FRD

[Question ID = 700][Question Description = 200_93_TMA_0OCT22_S2_Q100]
1. 1 [Option ID = 2797]
2. 2 [Option ID = 2798]
3. 3 [Option ID = 2799]
4. 4 [Option ID = 2800]

Topic:- 13_GP_SH1_S2_A



D The fﬁl]DWing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

The number of Colleges offering the Python course is more
than 460 in

1. All the four states

2. Only three states

3. Only two states’

4, Only one state
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A 196 % (74959 % 56 % (35 %

B |80% [02%32% 34 9 |15 9%

C |[74% [88%84 % 36 % (20 %

D 68% |64%68 % 70 % 30 %

UI3Y UIGUEH B 34 a0 Helaaiadl &) 9ea
FoicRa T Y ad 460 3l &

1. T IRT Tt

2, Had oA I J

3. e ol el |

4, Hae T@ AT H

[Question ID = 701][Question Description = 101_0_GP28_0CT22_52_Q01]
1 [Option ID = 2801]
2 [Option ID = 2802]
3 [Option ID = 2803]
4 [Option ID = 2804]

A wpN =



2) The ftﬁl]owing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

The total number of Colleges-offering Al in all the four
states is

1.2784

2.2816

3. 2864

4, 2552
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[Question ID = 702][Question Description = 102_0_GP28_0CT22_52_Q02]
1. 1 [Option ID = 2805]
2. 2 [Option ID = 2806]
3. 3 [Option ID = 2807]
4. 4 [Option ID = 2808]



3) The ftﬁl]owing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

if M and N represent the total number of Colleges offering
Python and Java, respectively, in all the four states, then M-
N=

1.64

2.96

3.48

4. 32



[Question ID = 703][Question Description = 103_0_GP28_0CT22_52_Q03]
. 1 [Option ID = 2809]

A wnN -

TR YR Il A-D H UBYHE, o1al, GeciHieql 3T T 315 |
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Uiea-ar fem T B | IR Ul § Heifaaradl o o 9=
4000 3| A1fcreT & 68 78 3fies & SMYR W UY 1-5 BT 371
gifore ;

T2 1 UTEUH ATHY HI aTe HEiSeTedl ®f Isaar
I B

HETaeeR & AR & &

{wu% e S S

SfdeRu

Hﬁﬂqwnﬁﬂiﬁﬁmgﬂé

A 186%: (74959 % 56 9% (35 %

B |80% [029%82 % 349 |15 9%

C |[74% (658 %[84 % 36 % (20 %

D 1689% |64%68% 70 % 130 %

ofg ot IR Il 8 9rgyH IR A s @i g
AeTfaered @ UE HA%: M RN & ¥ § Iqd @178
g M-N=

1. 64

2.96

3.48

4,32

2 [Option ID = 2810]
3 [Option ID = 2811]
4 [Option ID = 2812]



4) The ftﬁl]owing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

Ratio of the number of Colleges offering Multimedia in
State C to that of State D is

1.2:3

2.11:13

3. 7417

4,13:16
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1.2:3
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[Question ID = 704][Question Description = 104_0_GP28_0CT22_52_Q04]
1. 1 [Option ID = 2813]
2. 2 [Option ID = 2814]
3. 3 [Option ID = 2815]
4. 4 [Option ID = 2816]



%) The ftﬁl]owing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

Number of Colleges offering Java in State B is ----% of the
number of Colleges offering Al in State C,

1.78.15

2.8023

3. 82.25

4, 8452
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[Question ID = 705][Question Description = 105_0_GP28_0CT22_S2_Q05]
1. 1 [Option ID = 2817]
2. 2 [Option ID = 2818]
3. 3 [Option ID = 2819]
4. 4 [Option ID = 2820]

Topic:- 13_GP_SH1_S2_B
R Which of the following Developmental areas of individual
differences will be effected, if a Child opts for frequent out
bursts and throws tantrums?

1. Social

2. Mental

3. Emotional

4. Physical



fafirmmell @ FHofaiea § § oH-01 faeares 47 nuifag
BAM?

1. TS

2 JAFS

3, HaTTES

4. IRIRG

[Question ID = 706][Question Description = 106_0_GP28_0CT22_S2_Q06]
1. 1 [Option ID = 2821]
2. 2 [Option ID = 2822]
3. 3 [Option ID = 2823]
4. 4 [Option ID = 2824]

2) Which of the fellowing is outside the Teacher-
Centric Methed?

1. Demonstration

2. Team teaching

3. Inguiry approach

4, Lecture method

Fafotea ¥ 4 oF Ree-oisd A & srria 381 o &2
1. f35Em
2. 5a (E1H) e
3. S 3UFTH
4. g faiy

[Question ID = 707][Question Description = 107_0_GP28_0CT22_S2_Q07]
1. 1 [Option ID = 2825]
2. 2 [Option ID = 2826]
3. 3 [Option ID = 2827]
4. 4 [Option ID = 2828]

3) Which aspect indicates to be the most relevant in decision

miaking process according to Kohlberg's theory of moral
development 7

1. The age of the Child

2, Knowledge of Law

3. Influence of friends and Siblings

4. How the child arrives at Conclusion

Bigaat & ia® [GETE & GSid B JTaR o ufea
®IH-T1 U4 GaNu® WenTe o ®] AR SH1d Bl 87
1.5 3l A
2. B @1 I
3. i3l vd weie] @ UHE
4. 591 (o5 & Poaar &



[Question ID = 708][Question Description = 108_0_GP28_0CT22_52_Q08]
1. 1 [Option ID = 2829]
2. 2 [Option ID = 2830]
3. 3 [Option ID = 2831]
4. 4 [Option ID = 2832]

4) Which among the following are the MOOCs; Platforms 7

A. Google Mest
B, Coursera

C. Zoom

D. Future Learn
E. Turnitin

Choose the correct answer from the options given below,
1.A Dand E only
2.B, D and E ornly
3.B and D only
4. C and D only

T T 9 oH 4@ <o (49 §7
A TITE HIZ
B. BT
C. 9H
D. W @
E. TR
i ey e Aol S W1 IR 9 ;
1. 390 A DR E
2. %dd B, D AR E

3,?:?13561’1?13
4. HIACIRD

[Question ID = 709][Question Description = 109_0_GP28_0CT22_52_Q09]
1. 1 [Option ID = 2833]
2. 2 [Option ID = 2834]
3. 3 [Option ID = 2835]
4. 4 [Option ID = 2836]



%) Match List | with List 1l

List | List I

-Il_-ey::ns;:; Meaning

A. Factual I. This Learning is used to organize
Learning informatian in logical structure

B. Association |Il. This Learning is used to develop
Learning personality and think coherently

C. Conceptual |[lIl. This Learning is used to organize
Learning sequence of activities to achieve a goal
D. Procedural |1V, This Leaming is used to connect with
Learning information more deeply and accurately

Choose the correct answer fram the options given below:
TA-ILB-IV,E-,B-Ill
ZA-ILB-LC-NIlLB-IV
A-ILB-L,E-VD-1
4A-N,B-LC-IV,D-1

gl - -1l

A & PR |y

A THRD I, 56 HRITH &1 3TN g9 3 dlio® 9

HieH TiTiad @3 B fobg1 Sl 81

- \\. 39 HTATH T ST Sfadd AR G

= o & fa@Td o far o o

C. 9@meHET |1 39 A @1 Iuah fdl @ey @l ura

SR TR & S Bl Hildd - ag 1o
. 59 ST & STANT HUE e adid «

D'ﬁm IRE[S dii® O G & 9 9dG &4 ag
GG

2 Ru e fawadl § 9 W S g

TA-ILB-IV,C-L, D=1
ZA-ILB-LC-lILB-IV
AR =L E = IVVB =
4A-,B-LC-IV,D-1l

[Question ID = 710][Question Description = 110_0_GP28_0CT22_52_Q10]
1. 1 [Option ID = 2837]
2. 2 [Option ID = 2838]
3. 3 [Option ID = 2839]
4. 4 [Option ID = 2840]



6) One of the aims of qualitative data analysis is to
1. Expand the Selected text or material
2. Analyse the researcher’s credentials
3. Describe a phenomenon
4. Focus on binary dissection

st P OIS AZATY & GaIT H 4 U & ;
1. T 916 41 Al &1 T9%aR ®RA]
2. TiE@diAl & UAd| B Gy @il
3, Tl oRua &1 avia &3
4, TgafToies fwsea U & Shiad

[Question ID = 711][Question Description = 111_0_GP28_0CT22_S2_Q11]
1. 1 [Option ID = 2841]
2. 2 [Option ID = 2842]
3. 3 [Option ID = 2843]
4. 4 [Option ID = 2844]

7) Virtual ethniography is Iccated ina/an

1. Natural environment
2. Technical environment
3. Political environment
4, Fconomic environment

ST T g GaR & URaN & Efd g 8
1. Fufi® oiay
2. HID] gRag
3. TeITa® aivae
4, 31T giam

[Question ID = 712][Question Description = 112_0_GP28_0CT22_52_Q12]
1. 1 [Option ID = 2845]
2. 2 [Option ID = 2846]
3. 3 [Option ID = 2847]
4. 4 [Option ID = 2848]



8 . . = i
) The major ethical aspects of survey based research are;

A, Protection of Participants from any kind of harm.
B. Publicise the engagement of participants

C. Distinguish between different Strata of People.
D. Not to affect individual Privacy,

E. Use individual Privacy for Private Profit,

Choose the correct answer from the options given below,
1.A Band Conly
2.B, Cand D only
3.A Cand Eonly
4. A and D only

A& e Ty & U AT0® Ued e ;

A, GEMIFT! &1 68l TSR ®I 5114 4 ST

B, GEHITT & Gl B alp oy &

C. Tl At &R & &g 3 H1

D. SHGHTH [Feidl @1 WHifad el He1

E. el @ & Fore oufakrTd fHisfal &1 SudRT @Al

I feu e famadl 4 G e ST g -
1. BT A, B IR C
2. FaF B, CHARD
3.Fad A CHRE
4 FEAAARD

[Question ID = 713][Question Description = 113_0_GP28_0CT22_S2_Q13]
1. 1 [Option ID = 2849]
2. 2 [Option ID = 2850]
3. 3 [Option ID = 2851]
4. 4 [Option ID = 2852]



%) Which of the following are advantages of content analysis?

ftisa;

A, Transparent research method

B. Non- reactive method

C. Flexible method

D. Method that does not need a coding manual
E. Method that is free of any kind of framework

Choose the correct answer fram the options given below;
1.A Band Conly
2.B, Cand D only
3.C, Dand Eanly
4. A DandEonly

Pt # 4 - R o AR s oy g -
A, URGRI iy iafy

B. TR~ Wil ares wiay

C. T Tidfy

D. Uiy forgd ifeT g 1 S1awasd Tl &
E. vfafy i fordll v @ SUC@ G g §

id feu 71t fadedl 4 4§ el IR 91 -
1.HFAA BARC
2. %adAB, CHRD
3.PadC DANE
4, FadA DANE

[Question ID = 714][Question Description = 114_0_GP28_0CT22_S2_Q14]
1. 1 [Option ID = 2853]
2. 2 [Option ID = 2854]
3. 3 [Option ID = 2855]
4. 4 [Option ID = 2856]



10 .
) Given below are two statements

Statement |: Positivism Says that Sciences need not be
free from Speculative and metaphysical approaches

Statement ll: Positivism is Suitable for natural Sciences

In light of the above statements, choose the most
apprapriate answer from the optians given below
1. Both Statement | and Statement |l are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement || is incorrect
4. Statement | is incorrect but Statement Il is correct

Jid gl @A fGue g ;
Y - | : TUSATE Bad & [0 199 Bl HTAHEE AR
WifeE P @ gad 5 B HaaHdl Tei o

TYF - || : UHEATE FPIaTH & S5 s

e DYA| & HSI® H FHfciad el H 8 Uel 3w
o -

1. Y7 | AR || ST EE B

2. @Y | 3R 1 G e & |

3.0y Td e, g @y 1 Tad 8 |

4. Y| FHA T, g P 1| TET &

[Question ID = 715][Question Description = 115_0_GP28_0CT22_52_Q15]
1. 1 [Option ID = 2857]
2. 2 [Option ID = 2858]
3. 3 [Option ID = 2859]
4. 4 [Option ID = 2860]

11 d . y
) Media messages-consist of various layers of

1. Rationalisation

2, Complex resistance
3. Polymorphic meaning
4. Restrictive rituals

Hitsar demt & Fafofea 3 4§ fooe Rty wd gidi & -
1. Diga@ie
2. WiEy ufcRiy
3. §g&U] Y
4, Jidde® FEH

[Question ID = 716][Question Description = 116_0_GP28_0CT22_S2_Q16]
1. 1 [Option ID = 2861]
2. 2 [Option ID = 2862]
3. 3 [Option ID = 2863]
4. 4 [Option ID = 2864]



12 T ; :
) A source of Communicative inefficiency is

1. Desire for Personal gratification
2. Implications of familiar relations
3. Peer Pressure

4, Limited Knowledge

HHT & @1 Gid HHiad H 4 @ 9 e ?
1. ST SO B 38!
2. guRiad Seyl & Ffsad
3. YD B GaE
4, Hifgd 34

[Question ID = 717][Question Description = 117_0_GP28_0CT22_S2_Q17]
1. 1 [Option ID = 2865]
2. 2 [Option ID = 2866]
3. 3 [Option ID = 2867]
4. 4 [Option ID = 2868]

13) Which of the following are elements of congenial

classroony atmasphere?

A Creating a conducive atmosphere

B. Engaging in individual efforts

C. Supportive team work

D. Negotiable movemernit inside the classroom
E, Immersive listening

Choose the correct answer from the options given below,
1.4, B and Eonly
2.4 CandEonly
3.B, Cand D only
4.C, D and E only



fafafad 5 ¥ ®F | Hos o&T aaay @ 9d o7
A, T Qa1aeo @ a1

B, TfeaTTd HarEl & Iiad gl
C. ggarfidm ol
D. H& & Hic [AAag Maras

£, Fewad® sam

I fau e famadl 4 G Wel S 9 -
1. 990 A, B ARE
2. Fad A CHRE
3. %adA B CHRD
4 FaACDIANE

[Question ID = 718][Question Description = 118_0_GP28_0CT22_S2_Q18]
1. 1 [Option ID = 2869]
2. 2 [Option ID = 2870]
3. 3 [Option ID = 2871]
4. 4 [Option ID = 2872]

14) Which of the following can be categorised as non-verbal

communication?

A, Pleasant Voice

B, Postures

C. Gestures

D. Facial expressions

E. Viociferous greetings

Choose the correct answer from the options given below:,
1.4, Band Conly
2.8, Cand Eonly
3. C, D and E only
4.8, Cand D only



Fofofeg § 4 58 f-aos duyu o wu F dvftas feea
AIFAE 7

A, TR &R

B, HiE

C. Tba (FE9)
DY @l SiHeidl
E. SNGR g

Id fau Tt fagad! § 4 waife 3ugen 9o &1 997
Bt :

1. BT A, B IR C

2, FaE B CHRE

3.PadAC DIANE

4 FAAB, CHRD

[Question ID = 719][Question Description = 119_0_GP28_0CT22_S2_Q19]
1. 1 [Option ID = 2873]
2. 2 [Option ID = 2874]
3. 3 [Option ID = 2875]
4. 4 [Option ID = 2876]

1 5
%) Given below are two statements

Statement I: Most of the time, communication is loaded
with pewer value,

Statement II: Those who do not have the power of
gommuriication always seek to possess it,

In light of the above statements, choose the most
appropriate answer from the optiens given below
1. Both Statement | and Statement |l are correct
2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement || is incorrect
4, Statement | is incorrect but Statement |l is correct



EIERR EAIE RE g e

HYT - | - A YOS & 9y Ao 9 95 oS Ted
2l

HY - | ; o gy iny S wida T8 Bl s d gea 3d
g @ aed 8l

e BYA| & HSi® H FHfciad el H 8 U8l 3w
ECh

1. 99T | 3R 1 SR T R

2, ®YF | R 1 G e & |

3.0y gd e, g @y 1 Tad 6 |

4 ®YT | 3TA B, fg Ty 1 9 Bl

[Question ID = 720][Question Description = 120_0_GP28_0CT22_52_Q20]
1. 1 [Option ID = 2877]
2. 2 [Option ID = 2878]
3. 3 [Option ID = 2879]
4. 4 [Option ID = 2880]

16) One day a man left his home for a morning walk and went

12 km southwards. He then turned right and walked 8 km:
Again turned right and walked 12 km, turned left and
walked 10 km. How many Killometers the man has towalk
to reach straight to his home?

22 km

18 km

20 km

24 km

P R PN

T o1 0P o Yoo &1 OR & 100 R 4 o 31X 12
foosl] Sf&mT &1 SR 71T 98 99 a1; alfe-l SR 491 AR 8
foell = | Us R 1 Tife- J31 IR 12 6 9ar he el
SR {1 3R 10 T4 =el| afda @I 9iF 30+ W Ygud &
fore fva Toaiie 9o g7

22 fepHf

18 fepeit

20 Tt

24 Tl

[ -

Bow

[Question ID = 721][Question Description = 121_0_GP28_0CT22_52_Q21]
1. 1 [Option ID = 2881]
2. 2 [Option ID = 2882]
3. 3 [Option ID = 2883]
4. 4[Option ID = 2884]



17 The price of a jewel, passing three hands, rises on the

whole by 65%. If the first and second sellers eamed 20%
and 25%: profit respectively, find percentage profit earned
by the third seller.

1.10%

2.15%

3.16%

4.12%

4! 1 @1 9oy, JiF [dearal § T[ed g¢ G9Yd: 65% 96
SIdl 81 9 Uy SR Tgai fadhal o SH: 20% 3R 25%
AT T 81aT &, @ gaid [desal g Hfsid afad oy 31
Bifon?

1.10%

2.15%

3.16%

412 %

[Question ID = 722][Question Description = 122_0_GP28_0CT22_52_Q22]
1. 1 [Option ID = 2885]
2. 2 [Option ID = 2886]
3. 3 [Option ID = 2887]
4. 4 [Option ID = 2888]

18) In an examination 42% students failed in Mathematics and

52 % failed in Science, If 17% failed in both the subjects,
find the Percentage of those Who Passed in both the
subjects,

1.23%

2.25%

3.27T%

4.30%

feoelt ol = 425 faamff 7o & ool 810 & ok s2%
G & ol 810 1 3fe 17 ot gt fauat 3§ sl
ST &, ol i [a9d] & Sl g ard faepiddl o uigwd
HIfey ;

1.23%

2.25%

3.27%

4.30%

[Question ID = 723][Question Description = 123_0_GP28_0CT22_52_Q23]
1. 1 [Option ID = 2889]
2. 2 [Option ID = 2890]
3. 3 [Option ID = 2891]
4. 4 [Option ID = 2892]



19) A 729 ml of a mixture contains milk and water in the ratio

of 7 ; 2. How much miore water is to be added to get a new
mikture containing milk and water in the ratio of 7 : 37
1.81ml
2.90 ml
3.85ml
4.75 ml

7% 729 el & Fyo d gu SR wa @1 U 7.2 8, 91 72
@ U1 H qY SR S o (Y9 Bl UIE & & (68 fda]
1. 81 fael
2. 90 el
3. 85 fH@l
4,75 Tt

[Question ID = 724][Question Description = 124_0_GP28_0CT22_52_Q24]
1. 1 [Option ID = 2893]
2. 2 [Option ID = 2894]
3. 3 [Option ID = 2895]
4. 4 [Option ID = 2896]

20) Find the next term in the series given below.

124, 148, 196, 268, 364, 7
1. 484
2. 584
3. 464
4. 268

= G1 773 S 5 e UG §id GBI ;
124, 148, 196, 268, 364, 7

1.484

2.584

3. 464

4, 268

[Question ID = 725][Question Description = 125_0_GP28_0CT22_52_Q25]
1. 1 [Option ID = 2897]
2. 2 [Option ID = 2898]
3. 3 [Option ID = 2899]
4. 4 [Option ID = 2900]



21) Which of the following statements are logically equivalent?

A NoPisS

B. Some S are non-P

C. Some non-P are not non-5
D.Some S are not P

Choose the correct answer from the options given below;
1.B and Conly
2.Cand D only
3.B, Cand D only
4 4B CandD

Feifrd s S oH 4 @y aib® ef 4 F9H &
A BIRPSTo edIel

B. PO STR-PE &
CPBIRPIRSTRI el gl

D.©®S PHsleld &

T f&u e faded § € 98] IR 9 ;
1. Haa B AR C

2. FEACHRD

3, Pad B, CHRD

4.4 8C3RD

[Question ID = 726][Question Description = 126_0_GP28_0CT22_S2_Q26]
1. 1 [Option ID = 2901]
2. 2 [Option ID = 2902]
3. 3 [Option ID = 2903]
4. 4 [Option ID = 2904]

22) "Considering the Speech given by the School Principal

taday, | would conclude that he is'net a good
Public Speaker.” Identify the informal fallacy committed in
the above argument.

1. Slippery Slope

2. Ad hominem

3. Appeal to force

4. Hasty Generalisation



T e & WEr gRI fol T8 4180 R R axd ge i
7g e FiaTel e 9 999 ol gaaT 98 & | Sude
TG # AT SFIBIRD e oIy B T iy ;

1. TR =i1Y

2. USEIEH

3. §0-318

4. @ A @

[Question ID = 727][Question Description = 127_0_GP28_0CT22_S2_Q27]
1. 1 [Option ID = 2905]
2. 2 [Option ID = 2906]
3. 3 [Option ID = 2907]
4. 4 [Option ID = 2908]

23) Which of the following is true regarding Inductive

argument?

1. if all the premises are true, the-conclusion must be
trise.

2.IT claims:to support its conclusion anly with some
degree of probability

3. It claims to Support its conclusion condusively

4. Conclusion is'completely contained already in the
premises

HTHATES Giad & a) H 1 91 &Y T8l 8 :

1. T% T HTUR 9199 9l & al [0y AFara: 98 8
el

2. 35 fred % TaYH @1 ga Baa ST @) 58
g s ol A gl

3. 394 Frey o wogef el @ a1 fea s g

4 9% e qofa: Ugd 9 € MU aren & Sfafay g
gl

[Question ID = 728][Question Description = 128_0_GP28_0CT22_S2_Q28]
1. 1 [Option ID = 2909]
2. 2 [Option ID = 2910]
3. 3 [Option ID = 2911]
4. 4 [Option ID = 2912]

24 - . i
) When inference is based not on causation but

on uniformity of co-existence, what is it called as per
Classical Indian School of Logic?

1. Kevalanvayi

2. Samianyatadrsta

5. Parvavat

4. Sef,avat



8 SH BH-BRU UG TR AU 7 5/ Ge-3iwa B
U@ T I AU Bl & ) d HROd 19 90 &
3FTHR F 941 B8l Sl & ?

1. SHaaaa

2. HHEFgAIEP

3. gdad

4. ¥9ad

[Question ID = 729][Question Description = 129_0_GP28_0CT22_S2_Q29]
1. 1 [Option ID = 2913]
2. 2 [Option ID = 2914]
3. 3 [Option ID = 2915]
4. 4 [Option ID = 2916]

25) Which of following is true regarding Classical Indian School

of Logic?

A, It isdeductive

B. It is inductive

C. It isformal

D. It is matenal

E, it always leads from universal to particular enly

Choose the correct answer from the options given below:
1.4, B Cand Donly
2.B and Conly
3. A and D anly
4 A B CDandE

Y10 IE T d@Hd & &R 4 Hgiied 3 8 @ 9@
Tele:
A T8 FTETES a8l

B. U8 HTHAIHD il 8

C. 98 IS el &

D. UE UG g g |

£, T8 Had U] WEU A a9y 1659 ©1 3R Ugd ol o

Id fou 71¢ fadedl 4 4 U6l IR 9 -
1. @GAA, B.CHRD

2. FAAB AN C

3. FATAARD

4.A B CDIRE

[Question ID = 730][Question Description = 130_0_GP28_0CT22_52_Q30]
1. 1 [Option ID = 2917]



2. 2 [Option ID = 2918]
3. 3 [Option ID = 2919]
4. 4 [Option ID = 2920]

26) MIDI is associated with the storage-of music files. MIDI is

an acronym for__
1. Musical Interactive Digital Interface
2, Musical Instructions Device Interpreter
3. Mask [terative Display Instance
4. Musical Instrument Digital Interface

TH 1S BT AR Tifa (i) gl & Yenu | g4
oH T 31 9 Meifea § 4 e Rt we ohadi o=t &
2. "l grac oY [SaIgH SeXhed
3. A% 3iciicg foud 3%y
4. FffSin e ggHe fefored geehd

[Question ID = 731][Question Description = 131_0_GP28_0CT22_52_Q31]
1. 1 [Option ID = 2921]
2. 2 [Option ID = 2922]
3. 3 [Option ID = 2923]
4. 4 [Option ID = 2924]



27)

Maohit has sent an email to Bobby, Danny and Ashok as
shown below;

From : Mohit@gmail.com
To : Bobby@gmail.com
Cc : Danny@gmail.com

Bec : Ashok@gmail.com

Subject : Important update

Dear

Colleague,

Please note that tormorrow’s meeting has been cancelled.
Regards-

Mohit

Which of the following statements is Correci?

1. Bobby and Danny are aware that Ashok received the
email

2. Danny is aware that Ashok and Bobby received the
email

3. Ashok is aware that Bobby and Danny received the
email

4. All recipients are ‘aware that the others received the
email.



Hifed 7 A<, T3 U5 P B 3 J6 Hiod (60 & od 59
PLATER T K

From: Mohit@gmail.com
To: Bobby@gmail.com

Cc Danny@gmail.com

Bec: Ashok@gmail.com

Subject: Impertant Update

Dear Colleague
Please note that tomorrow’s meeting has been cancelled
Regard

Mohit

T an-w ey Tel 8l
1. 418l SR 590 1 T € fob SfR1e @Bl 3-+¥e1 Wi &l T
2. %‘;ﬂﬁfﬁﬂﬁﬁﬂ? ity 37 Sl @l §-Hr WIed & T
3. z;ﬁaﬁm%ﬁ?éﬁﬁ R 41 @1 §-57 U 8l
a4, ziﬁ%mﬁhﬁm‘rm%ﬁ 3 gaft @ 5-ga U
T E

[Question ID = 732][Question Description = 132_0_GP28_0CT22_S2_Q32]
1. 1 [Option ID = 2925]
2. 2 [Option ID = 2926]
3. 3 [Option ID = 2927]
4. 4 [Option ID = 2928]

28) Which of the following are web search engines?

A. DuckDuckGo
B. Google

C. Yahoo search
D. Bing

E, Pinterest

Cheose the correct answer from the options given below:
1.8, Cand D only
2.4 B Cand Donly
3. B and Eonly
4. A C DandE only



FHiaRad 5 9 ®F 99 99 391 o7
ASHSH

B, TFTd
C. UIg I
D. &
E, fvw

I fau e famadl 4 G Wel S 9 -
1. &9 B, C AR D
2. FadA B CHRD
3. FadBIRE
4 FaAA C DIHRE

[Question ID = 733][Question Description = 133_0_GP28_0CT22_S2_Q33]
1. 1 [Option ID = 2929]
2. 2 [Option ID = 2930]
3. 3 [Option ID = 2931]
4. 4 [Option ID = 2932]

29)  \atch List | with List 11

List | List I
(Statement) (Value)
4. The number of bits that make up a byte .5

B. Base - 10 (denary) value of the binary number;

1.8
001111

C. Number of minutes to upload a 75 megabyte I 18
file at 2 Megabits per second upload speed '

D. If there are 2° bytes in a Kilobyte then what is
the Value of P7

.15

Choose the correct answer from the options given below:
T.A-LB-ILC-1ILD-IV
2ZA-ILB-IV,E-|,D-1ll
A-NLB-IVC-1,D-1
A A-1LB-1L,C-M,D-1Il



e -1 1 -1l e B ;

|

U

A, {9y ®f 95 9] ey Ue 913 &l 6|

8. TESMHR 9= 001111 T 89- 10 @EE®) 59

C. 2 ifaey ufa Ydbe Hudis Wie R @y 75 AERe &
HEd b AUAIS & 8§ O ardd 5

D. 3f% U fhaiiaze H 2° S15¢H 8f <l P &1 d1F a1 shI?
7 feu U fdwedt © € 98 S I
1.A-LB-1,C-1I,D- IV

2A-WB-IV,C-1, D=l

3LA-NLB-IV,C-1,D-1l

4. A-1,B-1,C-VD-1I

[Question ID = 734][Question Description = 134_0_GP28_0CT22_52_Q34]
1. 1 [Option ID = 2933]
2. 2 [Option ID = 2934]
3. 3 [Option ID = 2935]
4. 4 [Option ID = 2936]

30 Given below are two statements

Statement I: ROM is temparary memory that can be
written to or read from and the contents of the memory
can be changed,

Statement ll: RAM is permanent memory that can only be
read from and contents of memory cannot be changed.

In light of the above statements, choose the most
appropriate answer from the options given below
1. Both Statement | and Statement |l are correet
2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement |l is incorrect
4. Statement | is incorrect but Statement |l is correct



i &l P R § SR 5EN & wed 1 -

YT - | : TH (ROM) ST TR & e R fae W 9aa 8
3R o IeT ol 9T & SN HERI @1 3iqde] @1 Ul
for a1 1 S g

TYT - 1| ; 3 (RAM) I 5 & Forgd &g Ugl o gl
& IR AN F1 3iTdw 3 ukefid ol fbu & 9Hd o

e BYA| & HGIH H FHfRad [adedl H 8 ¥al 3w
T -

1. WY | 3R |1 GHf Sel 8l

2.FYF | AR G TEd 8 |

3.8y 190 e, fFd ey 1 Tea 8 |

4. ®Y | G § , [ DY 1| Hal Bl

[Question ID = 735][Question Description = 135_0_GP28_0CT22_S2_Q35]
1. 1 [Option ID = 2937]
2. 2 [Option ID = 2938]
3. 3 [Option ID = 2939]
4. 4 [Option ID = 2940]

3 Given below are two statements

Statement |: Concentration of Volatile Organic Chemicals
is generally 100-1000 times higher in surface water than
underground water,

Statement |I: The most commen method of treatment of
Volatile Organic Chemicals is tc aerate them to
atmosphere.

I light of the above statements, choose the correct answer
from the options given below:

1. Both Statement | and Statement |l are true,

2. Both Statement | and Statement 1l are false.

3. Statement | is true but Statement |l is-false,

4. Statement | is false but Statement [l is true,



el ey BumE.

HY - | ; AR Bl WA B W YT 5 91
Y& W] oia 3 AR 100-1000 THT 3 Sl

HYF - || ; AT BleH® THEA & YT @ Ggiad
A B3fY 3= e | afad & 5l

Iuled YA & HEID 3 FEidiad [Geedl 3 Y Hel 9w
o -

1. 99T | 3R 1 SR T R

2. @Y | 3R 1 G e & |

3.0y Td e, g @y 1 Tad 8 |

4 T | AT, Bg I 1 TR B

[Question ID = 736][Question Description = 136_0_GP28_0CT22_52_Q36]
1. 1 [Option ID = 2941]
2. 2 [Option ID = 2942]
3. 3 [Option ID = 2943]
4. 4 [Option ID = 2944]

32) Pyrolysis-helps in addressing the Problem of

1. Air Pollution

2. Water Psllution

3. Municipal Solid Wastes-
4. Electronic Wastes

Ag-3gaed gy § ¥ v 99 & 9919E 5 98/l
Eﬂ?ﬁ%

1. A UGE0

2. 9e UG

3. R 31y smfRE

4 3oaclHe HARP

[Question ID = 737][Question Description = 137_0_GP28_0CT22_S2_Q37]
1. 1 [Option ID = 2945]
2. 2 [Option ID = 2946]
3. 3 [Option ID = 2947]
4. 4 [Option ID = 2948]

33) The period of Sendai framework for disaster risk reduction

is

.2015 -2030
. 2020 - 2040
.2015 -2025
.2020 - 2030

R O Y e



STIET AIRgH *HIHe0 oy Uols ©uxdl 31 3{afy
ICEIRITC R ATk

.2075 -2030

. 2020 - 2040

. 2015 - 2025

. 2020 - 2030

-

P v k]

[Question ID = 738][Question Description = 138_0_GP28_0CT22_52_Q38]
1. 1 [Option ID = 2949]
2. 2 [Option ID = 2950]
3. 3 [Option ID = 2951]
4. 4[Option ID = 2952]

34 .
) Given below are two statements

Statement |: To address problem of climate change it is
essential for the world to have 'Net Zero'

carbon emissions by the year 2050.

Statement II: There is zero carbon emission associated
with-the production of gray-hydrogen.

In light of the above statements, choose the correct answer
from the options given below:

1. Both Statement | and Statement |l are true,

2. Bath Statement | and Statement |l are false.

3. Statement | is true but Statement |l is-false,

4, Statement | is false but Statement [l is true,

el ey BumE.

BY - | : Srag UNEE ®1 YAl & 9H1YH B, [9% P i
Tg 90T ¢ 19 g8 2050 O% Fad 4 TE S8eq &
T @I el B

HY - || : 0 DI Iodoi I BIEse ® Sdied & Oy
HeE

e PYA| & HSIH H FHfRad el H ¥ Wel 3w
T -

1. @Y | 3R 1 ST TR B

2. FYT | 3R 1 G e B

3.9 YT g0 8, fd Sy 1 T B |

4. ®YF | SEG © , (g DY 1| Hal &l

[Question ID = 739][Question Description = 139_0_GP28_0CT22_52_Q39]
1. 1 [Option ID = 2953]
2. 2 [Option ID = 2954]
3. 3 [Option ID = 2955]
4. 4 [Option ID = 2956]



35 .
) Given below are two statements

Statement |: Acute exposure to a chemical is a long
term continuous exposure by that chemical

Statement II: Chronic exposure to a chemical is a short
term expoasure to that chemical

In light of the above statements, choose the most
apprapriate answer from the optiens given below
1. Both Statement | and Statement |l are correct
2. Both Statement | and Statemerit || are incorrect
3. Statement | is correct but Statement |l is incorrect
4. Statement | is incorrect but Statement |l is correct

Tasiar U E:
HY - | ; Tl T @7 o8t IRTeH 39 TEH BRI BH
T SEBIe® Fod SEE

YT - 11 ; mﬁmﬁﬁmﬁa 35194 OY THITH &)
Heu@mlod 3ee3 6|

e BYA] & HSH H FHfRad el H 8 Uel 3w
T -

1. WY | 3R |1 G Dol gl

2. YT | 3R | G e g |

13y g, A e I a8 |

4. ®YT | GG &, [bq YA 1| 8l 81

[Question ID = 740][Question Description = 140_0_GP28_0CT22_52_Q40]
1. 1 [Option ID = 2957]
2. 2 [Option ID = 2958]
3. 3 [Option ID = 2959]
4. 4 [Option ID = 2960]

36) Community Colleges are supposed to offer courses that

are a mix of
1. Fing Arts and Life Skills
2. School and College Education
3. Technical and Traditional Skills
4. Knowledge, Technical and Soft Skills

Traihe Aeliaarel g1 Rufeied usgear & T a g
o ygm o1 e B T 8 7

1. Afca @ 3R Sie S

2. [aereig SR Arefagrey fan

3. APIB1 AR TRUNS DIEE

4, §H, THAID1 AR 75 DN




[Question ID = 741][Question Description = 141_0_GP28_0CT22_52_Q41]
1. 1 [Option ID = 2961]
2. 2 [Option ID = 2962]
3. 3 [Option ID = 2963]
4. 4 [Option ID = 2964]

37 The major terms of reference for the National Knowledge
Commission were

A, Challenge developed countries in Knowledge creation
B. Westernise the Indian educational system

C. Promote creation of Knowledge in science and
technology laboratories

D. Promote Knowledge applications in agriculture and
industry

E, Build excellence in education system to meet the
challenges of the twenty-first century

Choose the correct answer fram the options given below;
1.4, Band Conly
2.B, Cand D only
3.C Dand Eonly
4.4 BandEanly

1P T ST & Y [Gar e Fafifaa H e g
q:
AT o & &7 1 Sl 531 & gl o
B, YReTg RI&T Uegicl @1 WIS
c. fag we dieliffte] warmEasd | 9 94 @1 dided
D. H1Y Td IR & &7 H 11 VAR & Ui
E. 300 19d] Gal ®1 gAlag! B GiHA] B & (a8 1151 S
H Iepwa &l i
d fau 71C fadedl 4 4 el IR 91 :

1. BaA A BARC

2. ®au B, CHRD

3. ®99C, D HNE
4 HIAA B IARE

[Question ID = 742][Question Description = 142_0_GP28_0CT22_S2_Q42]
1. 1 [Option ID = 2965]
2. 2 [Option ID = 2966]
3. 3 [Option ID = 2967]
4. 4 [Option ID = 2968]



38) The acrenym "SANKALP', introduced by the Ministry of Skill

Development and Entrepreneurship, stands for ;-
1. Skill Awareness and Knowledge Assessment of
Livelihdod Promdtion
2. skill Addition and Knowledge Assessment of
Livelihcod Promation
3. Skill Acquisition and Knowledge Awareness of
Livelihcod Promation
4. Skill Attainment and Knowledge Awareness of
Livelihgod Promation

I TU U & U va Ot i ¥ feue dRm wu
THEH
2. e w8t U s siwde HfE fSaciigs waeH
3. Fpa ufedie U Aie dg e fadigs
THERA
4, Tope SEHHE US Ao 909 3P [auiEs
JHEH

[Question ID = 743][Question Description = 143_0_GP28_0CT22_S2_Q43]
1. 1 [Option ID = 2969]
2. 2 [Option ID = 2970]
3. 3 [Option ID = 2971]
4. 4 [Option ID = 2972]

39) Where is Chanzkya said to have composed his

Arthashastra 7
1. Sarnatha
2. Takshashila
3. Nalanida
4, Vikramshila

0 SRR @) =99 @el @) 4
1. FTATY
2, dEREn
3. 9refar
4, fasaren

[Question ID = 744][Question Description = 144_0_GP28_0CT22_S2_Q44]
1. 1 [Option ID = 2973]
2. 2 [Option ID = 2974]
3. 3 [Option ID = 2975]
4. 4 [Option ID = 2976]



40) Match List | with List 11

List | List 1l
Name of the : .

. Domain and Subject Matter
Subject

~ I. Agriculture, trade, commerce, animal
A, Kavya )

husbandry

B. Aniviksiki Il. Etymiology
C. Varta IIl. Logic
D. Ntrukta IV. Imaginative and creative literature

Choose the correct answer from the options given below:
TA-ILB-ULE-IV,D-|
2ZA-IVB-NILC-1,D-1
FA-NB-IVC-Il,D-1
AA-ILB-IV,C-,D -1l

Tl - @] gl -1 e DI ;

CER =l -1l

T &1 T &7 AR fawgagg

A BT |. B, YR, I, TIUeH

B. S{difafs] I1. Fs5; ST A

C. @t 111 TEB R

D. e V. FEATED AR GoTEE 9ied
4 fer e fdwedt © © W eI

TA-ILB-ULE-IV,B -]
ZA-IVB-NILC-L,D-1
SSA-ILB-IMC-I,B -
4 A-ILB-IVMC-[,D-Ill

[Question ID = 745][Question Description = 145_0_GP28_0CT22_S2_Q45]
1. 1 [Option ID = 2977]
2. 2 [Option ID = 2978]
3. 3 [Option ID = 2979]
4. 4 [Option ID = 2980]

Topic:- 13_GP_SH1_S2_C



Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar,
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was te spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

Which was the Statement of fact in the Speech of
Mahatma Gandhi at Banaras?
1. Lawyers, doctors and landlords sided with the British.
2. The Indian nationalism was elitist
3. Nationalism was of another level in India
4. The existing Indian nationalism was highly effective



ferafafad Terw #7 ufed ofiT 46 T 50 TF LT F I
gifere ;

B 1916 § &G H T4 &1 HIHU U6 w1 W ag B
T o, ST YR Apare U Sid givaen 4, foreH
FHI, Mipwmm] AR YA ® gied YrieR 4| g,
T TR R U8 38 1 @] Sy uT g TF dedd o
q1e] Tt eaide] B WA APATE Bl A B GepE
51 Gad] gy @) i a1t 35 yRdig ar &7 8T
e ggfaa wiafifia 8 9% | 99 o & Jifam g md =
@I 30 Hiiq A ® FdeR &4 ¥ URad Y- & §HIE
U 311 fGHaR 1916 § G@ H HiTad 96 H (98X &
U & feraEl 3 oY Hud wiftd | et R o
fafew ia @1 ©al - aial & -6 oIgeR & i J ga/dl
4T | T S P gy 1917 H AUAT U@y §9Y 9uRA | ol
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT ER e §1 99 1918 F T ST 307 TeAnd ToRe o

ol sfaiem 5 2T 50 9auuE 3o $uel Ha & SIRI
@] BCY d8aT B4 B 10U SEHTEIG J %4 faar §
EEIAY {3501 | TOHT YT 941G 8- & 15 [puHl IR
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
YT T | 39 SRTe Sl & 9y ey il o kil &
Uil 187 GerYf T8 91 Uparel © 39 7 UgeH o o |
T T R U 4| nyHE Y 3 @ S ol 4 T TR
Udal TS SR ST oE & o) AeRas 180 aH $1 HTHd
A |

e B A 37 FeR AFE] S GR1 TG B [Hm1E B
| 7TE] S R STl Mgl 9eH & HEF & SR
I AR UiEE YRd H dvd P 1edfd I sl |

SIRY H Al i & WIee &1 qwW $ud FEkiiEd J 9
@I | U
1. gopidl, el SR yEaniaal - Sfsi o1 ug fomr
2. HIRel1G AAFATE HiTaral 4l
3. YIRS # AFAIG 30 TR P Ul
4. TaEr HRTE aTG Sid gHTE! ol

[Question ID = 746][Question Description = 146_0_GP28_0CT22_S2_Q46]
1. 1 [Option ID = 2981]
2. 2 [Option ID = 2982]
3. 3 [Option ID = 2983]
4. 4 [Option ID = 2984]



2)

Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar,
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was te spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

Gandhiji's speech expressed the intention of

1. Making Indian nationalism mere representative

2. Announcing the desire of expatriates to become
politically active

3. Criticising the activities of Indian natienalists

4 Launching a new nationalist movement



ferafafad Terw #7 ufed ofiT 46 T 50 TF LT F I
gifere ;

B 1916 § &G H T4 &1 HIHU U6 w1 W ag B
T o, ST YR Apare U Sid givaen 4, foreH
FHI, Mipwmm] AR YA ® gied YrieR 4| g,
T TR R U8 38 1 @] Sy uT g TF dedd o
q1e] Tt eaide] B WA APATE Bl A B GepE
51 Gad] gy @) i a1t 35 yRdig ar &7 8T
e ggfaa wiafifia 8 9% | 99 o & Jifam g md =
@I 30 Hiiq A ® FdeR &4 ¥ URad Y- & §HIE
U 311 fGHaR 1916 § G@ H HiTad 96 H (98X &
U & feraEl 3 oY Hud wiftd | et R o
fafew ia @1 ©al - aial & -6 oIgeR & i J ga/dl
4T | T S P gy 1917 H AUAT U@y §9Y 9uRA | ol
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT ER e §1 99 1918 F T ST 307 TeAnd ToRe o

ol sfaiem 5 2T 50 9auuE 3o $uel Ha & SIRI
@] BCY d8aT B4 B 10U SEHTEIG J %4 faar §
EEIAY {3501 | TOHT YT 941G 8- & 15 [puHl IR
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
YT T | 39 SRTe Sl & 9y ey il o kil &
Uil 187 GerYf T8 91 Uparel © 39 7 UgeH o o |
T T R U 4| nyHE Y 3 @ S ol 4 T TR
Udal TS SR ST oE & o) AeRas 180 aH $1 HTHd
A |

e B A 37 FeR AFE] S GR1 TG B [Hm1E B
| 7TE] S R STl Mgl 9eH & HEF & SR
I AR UiEE YRd H dvd P 1edfd I sl |

el < & yren § Fgfafas & 9 g e 91 sftefea
gs di?
1. YRAE AParE @ AR AYE ufaEe @ed o
2. FEdl & Tenae ©U 4 9ied oH ©1 3531 &)
I B
3. YA APAIG & BEGA B SATarEH] S
4. T APAIG] AT HRH BT

[Question ID = 747][Question Description = 147_0_GP28_0CT22_S2_Q47]
1. 1 [Option ID = 2985]
2. 2 [Option ID = 2986]
3. 3 [Option ID = 2987]
4. 4 [Option ID = 2988]



3)

Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar,
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was te spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

Gandhijl could put his precept into practice during

1. The Lucknow mieeting

2. The talks with landlords

3. The Champaran campaign

4, Tnie interaction with nationalist leaders



ferafafad Terw #7 ufed ofiT 46 T 50 TF LT F I
gifere ;

B 1916 § &G H T4 &1 HIHU U6 w1 W ag B
T o, ST YR Apare U Sid givaen 4, foreH
FHI, Mipwmm] AR YA ® gied YrieR 4| g,
T TR R U8 38 1 @] Sy uT g TF dedd o
q1e] Tt eaide] B WA APATE Bl A B GepE
51 Gad] gy @) i a1t 35 yRdig ar &7 8T
e ggfaa wiafifia 8 9% | 99 o & Jifam g md =
@I 30 Hiiq A ® FdeR &4 ¥ URad Y- & §HIE
U 311 fGHaR 1916 § G@ H HiTad 96 H (98X &
U & feraEl 3 oY Hud wiftd | et R o
fafew ia @1 ©al - aial & -6 oIgeR & i J ga/dl
4T | T S P gy 1917 H AUAT U@y §9Y 9uRA | ol
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT ER e §1 99 1918 F T ST 307 TeAnd ToRe o

ol sfaiem 5 2T 50 9auuE 3o $uel Ha & SIRI
@] BCY d8aT B4 B 10U SEHTEIG J %4 faar §
EEIAY {3501 | TOHT YT 941G 8- & 15 [puHl IR
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
YT T | 39 SRTe Sl & 9y ey il o kil &
Uil 187 GerYf T8 91 Uparel © 39 7 UgeH o o |
T T R U 4| nyHE Y 3 @ S ol 4 T TR
Udal TS SR ST oE & o) AeRas 180 aH $1 HTHd
A |

e B A 37 FeR AFE] S GR1 TG B [Hm1E B
| 7TE] S R STl Mgl 9eH & HEF & SR
I AR UiEE YRd H dvd P 1edfd I sl |

e o 5 3 e w1y @1 Fetiad 8 © fde R
wli-ad fodT 7

1. TEAS T4

2, 1Al & 9y a9l

3. 99RA TATE

4. AFTGETC] ATl & 9y STl

[Question ID = 748][Question Description = 148_0_GP28_0CT22_S2_Q48]
1. 1 [Option ID = 2989]
2. 2 [Option ID = 2990]
3. 3 [Option ID = 2991]
4. 4 [Option ID = 2992]



Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar,
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was te spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

Which issue propelled Gandhiji to the national stage for a
wider moverment?
1. Labour dispute of textile mill workersin Ahmedabad
2. Agitation peasanis in Kheda
3. The revolt against British Indigo planters
4, The Rowlatt Act



ferafafad Terw #7 ufed ofiT 46 T 50 TF LT F I
gifere ;

B 1916 § &G H T4 &1 HIHU U6 w1 W ag B
T o, ST YR Apare U Sid givaen 4, foreH
FHI, Mipwmm] AR YA ® gied YrieR 4| g,
T TR R U8 38 1 @] Sy uT g TF dedd o
q1e] Tt eaide] B WA APATE Bl A B GepE
51 Gad] gy @) i a1t 35 yRdig ar &7 8T
e ggfaa wiafifia 8 9% | 99 o & Jifam g md =
@I 30 Hiiq A ® FdeR &4 ¥ URad Y- & §HIE
U 311 fGHaR 1916 § G@ H HiTad 96 H (98X &
U & feraEl 3 oY Hud wiftd | et R o
fafew ia @1 ©al - aial & -6 oIgeR & i J ga/dl
4T | T S P gy 1917 H AUAT U@y §9Y 9uRA | ol
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT ER e §1 99 1918 F T ST 307 TeAnd ToRe o

ol sfaiem 5 2T 50 9auuE 3o $uel Ha & SIRI
@] BCY d8aT B4 B 10U SEHTEIG J %4 faar §
EEIAY {3501 | TOHT YT 941G 8- & 15 [puHl IR
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
YT T | 39 SRTe Sl & 9y ey il o kil &
Uil 187 GerYf T8 91 Uparel © 39 7 UgeH o o |
T T R U 4| nyHE Y 3 @ S ol 4 T TR
Udal TS SR ST oE & o) AeRas 180 aH $1 HTHd
A |

e B A 37 FeR AFE] S GR1 TG B [Hm1E B
| 7TE] S R STl Mgl 9eH & HEF & SR
I AR UiEE YRd H dvd P 1edfd I sl |

Frafafad & | fow g - 7 of & Wp1a w1 ) s
g & o Ui fean

1. IEYAIEE 4 $US Hd HeRI ®I 59 dag

2. WE1 & fpart &7 sifaied

3. ic Pu®I @] HU= & (G 9ale

4. e ae

[Question ID = 749][Question Description = 149_0_GP28_0CT22_S2_Q49]
1. 1 [Option ID = 2993]
2. 2 [Option ID = 2994]
3. 3 [Option ID = 2995]
4. 4 [Option ID = 2996]



5)

Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar,
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was te spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

The main intent of the passage is to deseribe

1. The British atrocities in India

2. The different facets of Indian national movement

3. The various campaigns against the British in [ndia

4, The emergence of Gandhiji as a representative
national leader



FrafafeEa e o1 ufed ot 46 & 50 TH U F I
gifeg ;

W] 1916 § §910G H 77| &1 HTHY] U &8 W a9 oy
T o, ST YR Apare U Sid givaen 4, foreH
TE, Fafem! R Y @1 Oty uRer 6| g
O TR W T8 39 A1 3 oy o1 fagd GF dlead o
aTe WAt SHiaad] @1 HRKY JPAIG Pl U Bl Sy
BT G SUINOn &1 7TH] A 59H YRa™ aill @1 3
i@ TR Ui 5 59 39 9y & s 71 T @
@1 (0 i 919 B agR €U ¥ URad B B gHaw
U g1 fETeR 1916 & vi@3 § HAIod 96 J (98K &
dURA & far! - 374 Hud g o | e g/ 3=
fafem +ia @1 T - aral & H64 9geR & gR H gad
T | e @] @Y 1917 | AT SiUdmiS §ug 9ueA 3 o
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT H 16 41 T8 1918 F TR S 307 TTeReg o o

&1 Hffgiemt | anfhd gU) 99y 36 Bugl Ha & sHaRl
@ DRCY d5at B & (08 HEHGIEIE | 94 ([9aG H
EEIAY {3501 | TOHT YT 941G 8- & 15 [puHl IR
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
YT T | 39 SRTe Sl & 9y ey il o kil &
Uil 187 GerYf T8 91 Uparel © 39 7 UgeH o o |
3 ol g O 4| 0yE 9% 08 & eRE o9 4 TR
Udal TS SR ST oE & o) AeRas 180 aH $1 HTHd
A |

Jcie 9fEfT A 3 SR aFel B §R) e @) whE &t
71 7Tl i gR1 ST Sigle 99 § HEH & SR
I AR UiEE YRd H dvd P 1edfd I sl |

T & 5% 9E R FEfatad o | g g e 8 7
1. YIRa H feifew @R
2. YR AP SHigie & H ua
3. YRa H UGl & 9w [Afay sivae
4. 71 St 1 Uit g A & wu H anfaula

[Question ID = 750][Question Description = 150_0_GP28_0CT22_S2_Q50]
1. 1 [Option ID = 2997]
2. 2 [Option ID = 2998]
3. 3 [Option ID = 2999]
4. 4 [Option ID = 3000]






